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Preface

These are the lecture notes for the third-year Advanced Classical Physics course in the 2013-14 aca-
demic year at Imperial College London. They are based on the notes which I inherited from the
previous lecturer Professor Angus MacKinnon.

The notes are designed to be self-contained, but there are also some excellent textbooks, which I
want to recommend as supplementary reading. The core textbooks are

o Classical Mechanics (5th Edition), Kibble & Berkshire (Imperial College Press 2004),
o Introduction to Electrodynamics (3rd Edition), Griffiths (Pearson 2008),

and these books may also be useful:
e (lassical Mechanics (2nd Edition), McCall (Wiley 2011),

o Classical Mechanics, Gregory (Cambridge University Press 2006),

Classical Mechanics (3rd Edition), Goldstein, Poole & Safko (Addison-Wesley 2002),

Mechanics (3rd Edition), Landau & Lifshitz (Elsevier 1976),

Classical Electrodynamics (3rd Edition), Jackson (Wiley 1999),
e The Classical Theory of Fields, Landau & Lifshitz (Elsevier 1975).

The course assumes Mechanics, Relativity and Electromagnetism as background knowledge. Be-
ing a theoretical course, it also makes heavy use of most aspects of the compulsory mathematics
courses. Mathematical Methods is also useful, but it is not a formal prerequisite, and all necessary
concepts are introduced as part of this course, although in a less general way.

Arttu Rajantie
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Chapter 1

Rotating Frames

1.1 Angular Velocity(|

In order to describe rotation, you need to know its speed and the direction of the rotation axis. The
speed is a scalar quantity and it is given by the angular frequency w = 27 /T, where T is the period
of rotation, and the axis is a direction in space, so it can be represented by a unit vector f.

It is natural and useful to combine these to an angular velocity vector w = wn. The sign of the
vector w is determined by the right-hand-rule: 1f you imagine gripping the axis of rotation with the
fingers of your right hand, your thumb will point to the direction of w.

The angular velocity vector is called an axial vector (or sometimes a pseudo-vector), which means
that is has different symmetry properties from a normal (polar) vector. Consider the effect of reflection
in a plane containing the vector, e.g. a vector in the Z direction reflected in the (y — z) plane. A polar
vector is unchanged under such an operation, whereas an axial vector changes sign, as the direction
of rotation is reversed.

For example, for the rotation of the earth (against the background of the stars), the angular velocity

w takes the value
27

86164
The angular momentum vector w points up at the North Pole.

Consider now a point r on the the rotating body, e.g. Blackett Lab. at latitude 51.5° N. This point
is moving tangentially eastwards with a speed v = wr sin 6, where r is the distance from the origin
(assumed to be on the axis of rotation (e.g. the centre of the Earth) and 6 is the angle between the
vectors r and w (i.e., for Blackett, § = 90° — 51.5° = 38.5°). Hence the velocity of the point r may
be written

=7.292 x 107°s7 1. (1.1.1)

dr

dt
We note here that geographers tend to measure latitude from the equator whereas the angle 6 in
spherical polar co-ordinates is defined from the pole. Thus the geographical designation 51.5° N
corresponds to § = 38.5°.

=wXr. (1.1.2)
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Figure 1.1: Cylindrical (left) and spherical (right) coordinate systems

1.2 Transformation of Vectors

Actually the result ((1.1.2]) is valid for any vector fixed in the rotating body, not just for position vectors.

So, in general we may write
dA

o
In particular we can consider the case of a set of orthogonal unit vectors, 2, 3, k fixed in the body,
chosen in accordance with the right-hand rule (index finger points in the direction of 2, middle finger in
the direction of 7 and thumb in the direction of k), which we can use as a basis of a rotating coordinate
system. It is often convenient to choose % to point radially away from the rotation axis and k to be
in the direction w, so that 7 points in the direction of motion. This forms the basis of cylindrical
coordinates (p, ¢, z) and are often denoted by z = p, j = b, k=12

On the other hand, for motion on the surface for a rotating sphere such as the Earth, a convenient
choice is to take 2 pointing south, j pointing east and k pointing up (i.e. away from the centre). These
form the basis of spherical coordinates (r, 0, ¢), with T = 0, ji= (f) k =t

We have to be careful to distinguish between the point of view of an observer on the rotating
object and one in a fixed (inertial) frame of reference observing the situation from outside. The basis
vectors 2, 7, k are fixed from the point of view of the rotating observer to the inertial observer. We
shall adopt the convention of using subscripts I and R to donate quantities in the inertial and rotating
frames respectively (N.B. Kibble & Berkshire use a different convention).

Given a set of basis vectors 2, 7, k, we can write any vector A as

=wxA. (1.2.1)

A=Ajd+ A5+ Ak, (1.2.2)

We want to write down an expression which relates the rates of change of this vector in the two frames.
We first note that a scalar quantity cannot depend on the choice of frame and that A,, A, and A, may

'Kibble & Berkshire, chapter 5
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each be considered as such scalars. Hence

dA,
dt

_dA,

etc. (1.2.3)

R

so that the differences between the vector A in the 2 frames must be solely related to the difference in
the basis vectors. Hence

dA, . dA, . dA, di dj dk
= k Ap— + Ay + A, —
(dtH_ ATRCT >+<$dt var " Zdt)

dA, ~dA, . dA.- . o P
= < g i+ . Jj+ & k) + (Az(w X 1)+ Ay(wxJ)+ As(w x k)) . (1.24)

da
dt

I

The expression in the first brackets on the right-hand-side is precisely the time derivative measured
by the rotating observer, so this is the relation we wanted: It relates the time derivatives measured by
inertial and rotating observers. We can write it compactly as in the compact form

da
dt

_dA

= A 1.2.5
= e (12.5)

R

1.3 Equation of Motion

Applying Eq. (I.2.5) to the position of the particle r, its velocity may be written as

dr

_ dr _dr
ot

= +wXr=vRp+wXr. (1.3.1)
;o dt

R

VI

Now consider an object subject to a force F. Newton’s second law applies in the inertial frame,
so we have
d’r

I
To write this equation in the rotating frame, we differentiate the velocity vy using Eq. (1.2.5)) again,

$Frp_dv
dez|;  dt |
dvgr dr
oW T W,
dVR
= —| +wxvpt+wx (Vg+wxr)
at |y
d? d
= (M;.R-FQWXC;‘R—wa(wxr). (1.3.3)

Alternatively we can write this very concisely as

d’r d 2
o= (S 134
de? |y (dt R~|—w><> ' ( )
= dir —|—2w><g +wx (wxr)
de? |g dt |g '
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We now rearrange (1.3.3) and combine it with (1.3.2) to obtain an equation of motion for the
particle in the rotating frame

d?r

m—| =F—-2mwxvg —mw X (wxr). (1.3.5)
de? g

The second term on the right-hand-side of is the Coriolis force while the final term, pointing
away from the axis, is the centrifugal force. They are called fictitious forces, because they do not
represent real physical interactions but appear only because of the choice of the coordinate system.
Fictitious forces are always proportional to the mass of the particle, so that the corresponding accel-
eration is independent of mass. Of course, this is also true for gravity, and in fact general relativity
describes gravity as a fictitious force.

1.4 Coriolis Force

Equation (1.3.5)) shows that, due to the Coriolis force, an object moving at velocity v in the rotating
frame, experiences apparent acceleration

acor = —2Ww X V. (1.4.1)

For example, imagine a car travelling north along Queen’s Gate at 50 km /h. To calculate the Coriolis
acceleration it experiences, let us choose a set of orthogonal basis vectors that rotate with the Earth, for
example 2 pointing east, 7 north and k up. With this choice the angular velocity vector has components

w = (0,wsinf,wcosh) , (1.4.2)

and the car has velocity v = vj. The Coriolis acceleration is, therefore,

~

2 j k
acer = 2w Xv=-2X|0 wsinf wcosl| =2wvcoshi
0 v 0
50 x 103 m
~ 2% (7.292x107°s71 -
x (7.292 x 1077 s )x( 3600 >><cos(385)z
~ 1.5mm/s?eastwards (1.4.3)

which is equivalent to a velocity change of ~ 9cm/s after 1 min. In this context it’s not a big effect
and can safely be ignored. There are other contexts in which it is anything but negligible, however.

1.5 Centrifugal Force
According to Eq. (I.3.5)), the acceleration due to the centrifugal force is

ags=-wxX (wxr). (1.5.1)
. To calculate this, it is useful to note the general identity for the triple cross product,

ax(bxc)=(a-c)b—(a-b)c. (1.5.2)
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Figure 1.2: Gaspard-Gustave de Coriolis (1792-1843) (left), Léon Foucault (1819-68) (centre) and
Sir Joseph Larmor (1857-1942) (right)

Using the same coordinates as in Section|1.4] with r = rk, we find

as = (w-w)r—(w-r)w=w?r(0,—sinfcosf,sin®f)
= wrsind(0, — cosf,sinh). (1.5.3)

The acceleration points away from the rotation axis, and for example in London, it has the strength
et = w?rsind =~ (7.3 x 107°s71)% x 6.4 x 10°m x sin(38.5°) ~ 0.02m/s>. (1.5.4)

Because this force is independent of velocity, we cannot distinguish it locally from the gravitational
force, and therefore it acts essentially as a small correction to it, changing not only the apparent
strength but also the direction of the gravitational force. In other situations the centrifugal force can
be very important, especially when rotation speeds are high.

It is useful to consider the special case of a particle at rest in the rotating frame, so that the left-
hand-side of Eq. (I.3.3)) vanishes and vg = 0 as well. In that case, Eq. (I.3.5)) implies that there has
to be a real physical force

F=mwx(wxr). (1.5.5)

This is known as the centripetal force, and it is the total net force acting on the particle to keep it fixed
in the rotating frame. Because it is a real force, it has to due to some type of physical interaction,
such as gravitational or electrostatic force, a support force provided by, e.g., a rope, or usually a
combination of several different physical forces.

1.6 Examples

1.6.1 Weather

Probably the most important effect attributed to the Coriolis effect is in meteorology: Winds don’t
flow from areas of high pressure to those of low pressure but instead tend to flow round the minima
and maxima of pressure, giving rise to cyclones and anticyclones respectively. A simple way to
understand this is to consider a simple uniform pressure gradient in the presence of a Coriolis force,
giving an equation of motion such as

d?r

@:—VP—QWXV. (1.6.1)



Advanced Classical Physics, Autumn 2013 Rotating Frames

Figure 1.3: Left: schematic representation of flow around a low-pressure area in the Northern hemi-
sphere. The pressure-gradient force is represented by blue arrows, the Coriolis acceleration (always
perpendicular to the velocity) by red arrows. Right: this low pressure system over Iceland spins
counter-clockwise due to balance between the Coriolis force and the pressure gradient force.

The general solution of such a problem is complicated. However, if we confine ourselves to 2—
dimensions and ignore the component of w parallel to the surface, just as we did in our discussion
of the Foucault pendulum, we can always find a solution of (I.6.I) with a constant velocity such
that the 2 terms on the right cancel. In such a solution Vp must be perpendicular to v, as a cross
product is always perpendicular to both vectors. Hence has a solution in which the velocity
is perpendicular to the pressure gradient. In such a system the wind always follows the isobars (lines
of constant pressure), a pressure minimum is not easily filled and a cyclone (or anticyclone) is stable.
This is illustrated in Fig. [I.3p.

1.6.2 Foucault’s Pendulum

Consider a pendulum which is free to move in any direction and is sufficiently long and heavy that it
will swing freely for several hours. Ignoring the vertical component both of the pendulum’s motion
and of the Coriolis force, the equations of motion for the bob (in the coordinate system described
above) are

_9

r = £m+2w00803}, (1.6.2)
y = —%y—2wcos05c, (1.6.3)

or, using the complex number trick from Section [[.6.3| with 7 = = + iy,

¥ dF

where ) = w cos § and w3 = g/{. Using standard methods for second order differential equations we
obtain the general solution

7= Ae (W)t | Bemiltw)t (1.6.5)
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where w? = w% + Q2. In particular, if the pendulum is released from the origin with velocity (vg, 0),

we have A = —B = vy/2iwy, so tha

r = @e_im sin w1 t, (1.6.6)

w1

which means in terms of the original variables x and y,

v
r = —Ocothsinwlt,
w1
Vo . .
y = ——sinQtsinwit. (1.6.7)
w1

We can also write this in terms of polar co-ordinates, (p, ¢), as

p= o sin wyt ¢ =—Qt
w1

As ) < wy, the period of oscillation is much less than a day, the result is easy to interpret: the

pendulum swings with a basic angular frequency w; (= wq) but the plane of oscillation rotates with

angular frequency (2. At the pole, § = 0 the plane of the pendulum apparently rotates once a day. In

other words, the plane doesn’t rotate at all but the Earth rotates under it once a day. On the other hand,

at the equator, 6 = 7 and (2 = 0 the plane of the pendulum is stable. In South Kensington

Q=wcosf = (7.292 x 1075571 x cos(38.5°) = T = 30.58hr. (1.6.8)

Note that this is the time for a complete rotation of the plane of the pendulum through 360°. However,
after it has rotated through 180° it would be hard to tell the difference between that and the starting
position.

A working Foucault pendulum may be seen in the Science Museum.

1.6.3 Particle in Magnetic Field

The equation of motion for a charged particle in a magnetic field takes the form

d2

de’; — qv x B, (1.6.9)
which we can write as d
v q
w__ —B) . 1.6.10
dt (m xv ( )

If we identify w with ¢B/m, we note that this has same form as Eq. for a velocity which is
constant in the inertial frame. Hence we should expect the motion of a particle in a magnetic field
to be similar to motion of a free particle in a rotating frame with omega = ¢B/m, namely circular
motion with angular frequency w. In this case this is called the cyclotron motion and w = ¢B/m is
the cyclotron frequency.

We can check this by solving the equation of motion. We first choose a coordinate system such
that w (or equivalently B) is in the k direction. Then, since w X k = 0, the 2 component of v is
constant, and the x and y components satisfy

d d
Uz _ +wuy, Ly _ —WUy. (1.6.11)

dt

2N.B. There is an error in the example given in K & B p 117.

10
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Define a complex variable © = v, + iv,, these can be written as a single equation

s
dit’ — —iwd, (1.6.12)

which is easy to solve,
0 = Ug exp(—iwt) . (1.6.13)

Finally we obtain v, and v, by taking the real and imaginary parts of v.
We can take this analogy further by generalising Eq. (I.6.10) to the full Lorentz force, including

an electric field E to obtain d

md—‘;:qva+qE. (1.6.14)
where we immediately see that -2 E is analogous to the rate of change of the velocity in the inertial
frame. If we consider now the simple case in which E is in the z—direction and B in the z—direction,

we can write the  and y components of Eq. (1.6.14) in the form

dv
md—z = quyB,+ qE;
dv
dey = —qu.B.. (1.6.15)
Using the simple transformation v;, = v, — (E;/B.), Eq. (1.6.15) becomes
dvy ,
mE = quBZ
doy,
mE = —qu.B,, (1.6.16)

which is the same as Eq. (I.6.10). Hence the complete solution is a circular motion with an additional
drift with speed E, /B, in the y—direction, perpendicular to both E and B.

More generally, whenever we find that when the time derivative of any vector is of the form (I.2.5)),
we can immediately tell that it rotates with the corresponding angular velocity w.

1.6.4 Larmor Effect

It is sometimes useful to consider a rotating frame, not because the system is itself rotating, but
because it helps to simplify the mathematics. In this sense it is similar to choosing an appropriate
coordinate system.

Consider a particle of charge ¢ moving around a fixed point charge —¢’ in a uniform magnetic
field B. The equation of motion is

d?r k . dr

where k = qq’ /4me.
Rewriting in a rotating frame, we obtain
d?r
de?

dr
+ 2w X —

Fwx(wxr)=— 2f-+q<dr +w><r)><B. (1.6.18)
R mr m \ dt |g

11
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If we choose w = — (q/2m) B, the terms in the velocity fall out and we are left with
d’r k q \2
—| =-——=T — ) Bx (B . 1.6.19
dt? | mr2r+<2m) x (B xr) ( )

In a weak magnetic field we may ignore terms in B2, such as the last term in , so that we are
left with an expression which is identical to that of the system without the magnetic field. What does
this mean?

The solution of is an ellipse (as shown by Newton, Kepler, etc.). Hence, the solution in
the inertial frame must be the same ellipse but rotating with the angular frequency w = — (¢/2m) B.
If this is smaller than the period of the ellipse then the effect is that the major axis of the ellipse slowly
rotates. Such a behaviour is known as precession. We shall see other examples of this later.

Note that there are some confusing diagrams on the internet and in textbooks which purport to
illustrate this precession. There are two special cases to consider: firstly when the magnetic field is
perpendicular to the plane of the ellipse. In this case the major axis of the ellipse rotates about the
focus, while remaining in the same plane. In the second special case the magnetic field is in the plane
of the ellipse. Here the ellipse rotates about an axis through the focus and perpendicular to the major
axis. For a circular orbit, the first case the orbit would remain circular, but with slightly different
periods clockwise and anti-clockwise, whereas the second would behave like a plate rotating while
standing on its edge.

12



Chapter 2

Rigid Bodies

2.1 Many-Body Systemﬂ

Let us consider a system consisting N particles, which we label by an integer a = 1, ..., N (or other
letters b, c, . . . at the start of the alphabet). We denote their positions by r, and masses by m,,.

The net force acting on each particle, is the sum of the forces due to each other particle in the
system as well as any external forces. Therefore Newton’s second law for particle a has the form

Maiy = Z Fop + F& (2.1.1)
b#a

where F, is the force on particle a due to particle b, and F&** is the external force acting on particle
a. Note that the external force is generally dependent on the particle’s position, velocity etc. and is
therefore different for each particle, which is why it has the index a.

Instead of trying to solve the motion of each particle, let us first look at the motion of the system
as a whole. For that purpose, it is useful to define the total mass

M = Zm‘“ (2.1.2)

and the centre or mass ]
R= Za: MaTa. (2.1.3)

We also define the total momentum of the system as the sum of the momenta of the individual particles,
P=>) p,=)» ma=MR. (2.1.4)
a a
Differentiating this with respect to time gives

P=) myi=> Fot+) FO'=> F, (2.1.5)
a ab a a

where the sum of the inter-particle forces F; vanishes because of Newton’s third law Fp, = —F 3.
Therefore the rate of change of the total momentum is given by the total external force. In particular,
the total momentum P is conserved in isolated systems, i.e., when there are no external forces.

'Kibble & Berkshire, chapter 9

13
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Similarly, we define the total angular momentum L as the sum of angular momenta 1, = m,r, X1,
of the individual particles,
L= 1,=) mere X t,. (2.1.6)
a a

(N.B. Kibble & Berkshire use J for the angular momentum. We shall stick to the more conventional
L here.) Its rate of change is given by

L = Zmai'a X I"a+2mara X Ty = Zmara X T,
a a a
= D rex (ZFab+ngt>. 2.1.7)
a b

Using Newton’s third law, we can write this as

|
L= 5} :(rafrb) xFab+§ r, x F&, (2.1.8)
ab a

In general, the first term on the right-hand-side is non-zero, but it vanishes if we assume that the inter-
particle forces are central, which means that the force F',; between particles ¢ and j is in the direction
of their separation vector (r, — rp). In that case we have

L=) r,xFX=r, (2.1.9)

where the right-hand-side is known as the forque. The torque is zero and the angular momentum is
conserved if the system is isolated or if the external forces all point to the origin (i.e., F&*||r,).

Note that there are some forces that are not central, such as the electromagnetic force between
moving charges, and in that case L is not conserved. (In fact, the electromagnetic field can carry
angular momentum, and when it is included the total angular momentum is still conserved.)

It is often useful to separate the coordinates r, into centre of mass and relative contributions

r,=R+r" (2.1.10)

such that, by definition,
> marh =0. (2.1.11)
a

Substituting this into Eq. (2.1.6) gives
L = thm+¢p(R+Q)
a
- (Zma> R x R+ (Zmar;> x R+ R x <Zmafj;) + ) mary x
a a a a
= MRxR+L*  where L* :Zmarz X T (2.1.12)
a

as the other terms are zero due to Eq. (2.1.T1). The angular momentum can be separated into a centre
of mass part, MR x R, and the angular momentum about the centre of mass, L*.

14
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The rate of change of the relative angular momentum L* may be written as the sum of the moments
of the particles about the centre of mass due to external forces alone

L = L—di(MRxR>:ZraxFeXt—MRxf{
= ) (ra-R)xF = Zr x Fe<t, (2.1.13)

a

This means that we can often study the centre-of-mass motion and the relative motion separately
from each other. In particular, if the external forces are position-independent, the relative angular
momentum evolves independently of the centre-of-mass motion.

Likewise, the total kinetic energy separates into the kinetic energy of the centre of mass and the
kinetic energy relative to the centre of mass,

1 1 . . 1 . 1
=3 mail =5 Y ma (R+f;;) : <R+f~;> - 5MR2 3y omadl (2114)
a a a

The above results apply generally to many-body systems, but for the rest of this Section we will
focus on a special class of them known as rigid bodies. These are many-body systems in which all
distances |r, — rp| between particles are fixed. The whole system can still move and rotate. In reality,
arigid body a mathematical idealisation because it requires infinitely strong forces between particles,
but in many cases it is a very good approximation.

2.2 Rotation about a Fixed Axis

We first consider the case in which the body is free to rotate about a fixed axis. Cylindrical polar
coordinates (p, ¢, z) are ideally suited for this situation (see Fig. . If we choose the z axis as
the rotation axis, then for every particle a the coordinate z, and p, are fixed and only the angular
coordinate ¢, changes as ¢, = w. Then we can write the z component of the angular momentum

Z19) as
Lo =" mapa (pad) = S mapie = Iw, 22.1)
a a

where p(fb is the tangential velocity and I = ) m, p? is the moment of inertia about the axis. As I is
obviously constant we can write its rate of change as

L.=1I0= paFag, (2.2.2)

where F, is the component of the external force FE** in the ngS direction.
Similarly we can write the kinetic energy in terms of I and w as

N
T=3 im, (pa¢a> =177, (2.2.3)
a
Note the similarity of these expressions to the corresponding linear ones where m +— I and v — w
T = imv? “ T=1ilw”. (2.2.5)

15
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Of course, there is no reason why the axis should be through the centre of mass, and for example
in a pendulum it is not. If we define the origin to be on the axis then we can define R as the distance
of the centre of mass from that axis. In general the axis would be free to move, so in order for it to
remain fixed, there must be a support force Q that prevents it from moving. From brevity, we refer to
it as the “force at axis”. Denoting the sum of all other external forces by F, we can write Newton’s
second law as

P=MR=Q+F. (2.2.6)

Using R = w x R we can write
R=wxR+wxR=wxR+wx (wxR). (2.2.7)

The first of these is the tangential acceleration and the second one is the centripetal force which keeps
the centre of mass on a circular trajectory. From these equations we can determine the support force
Q required to keep the axis fixed.

2.2.1 Compound Pendulum

As an example, let us consider a compound pendulum, which is a rigid body attached to a pivot and
subject to a gravitational force. We take the z—axis to be the axis of rotation, which is now horizontal,
and X to be pointing downwards. Then the pendulum is subject to an external gravitational force
F = (Mg, 0,0) acting through its centre of mass. In terms of the unit vectors p and (ﬁ, we can write
this as

F = Mgcos¢pp — Mgsin QS(]B (2.2.8)

Thus the equation of motion (2.2.2) is

I¢ = —MgRsin ¢, (2.2.9)
and the energy conservation equation is
E=T+V = 1I$* — MgRcos ¢ = constant. (2.2.10)

For small amplitudes, ¢ < 1, Eq. (2.2.9) reduces to the equation for a simple harmonic oscillator,

¢ = —7M}C’R¢, 2.2.11)

with period T = 27+/I/MgR.
Rewriting Eq. (2.2.7) in polar coordinates and noting that only ¢ actually changes we can calculate
the net force on the system and hence the support force QQ at the axis,

P = MR=MR)p— MR’ p (2.2.12)

~Q = P-F= (—Mgcosgb _ MRqB2) p+ <Mg sin ¢ + MR&S) é (2.2.13)
2 2

= —[Mgcosqb(l—i—Q]wIR )+2¥RE}ﬁ+Mgsin¢<l—Mf )cfw, (2.2.14)

where, in the final step, we have substituted from Egs. (]2.2.10[) and (]2.2.9[) to eliminate qb and ¢>
Note that, in contrast with a simple pendulum (for which I = M R?), the force Q is not in the radial
direction p.
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2.2.2 Centre of Percussion

As a further example, consider a compound pendulum which is initially at rest. An external force F
in the angular direction ¢ is then applied at distance d from the pivot point for a short period of time.
We want to calculate the force Q needed to keep the axis fixed.

To make this more concrete, you can think of the pendulum as a tennis racket which you are
holding in your hand, so that your hand acts as the pivot point. A ball hits the racket at distance d
from your hand and exerts a force F on the racket. We want to calculate the support force Q which
your hand has to provide to remain stationary, or equivalently the impact you will feel with your hand.

Because initially the racket is not rotating, ¢ = 0, and therefore Egs. (]2.2.6[) and (]2.2.7[) become

Q+F = P=MR= MR},
16 = dFy, (2.2.15)

from which we find
.. MRd MRd
Qy=MRgp - Fy = TF¢ —Fy = <I — 1) Fy. (2.2.16)

If the distance at which the ball hits the racket is d = I /M R, the linear and rotational motion balance
each other and the pivot point does not feel any impact. This point is known as the centre of percussion.
In sport it is also called the “sweet spot”, because you hit the ball but feel no impact with your hand.

2.3 Inertia Tensor

In general, the angular momentum vector

L= Zmara X Iy = Zmara X (w X 1q) (2.3.1)

is not parallel to the angular velocity w.
Let us use the Cartesian coordinates and write the position vector as

T
r={y]|. (2.32)
z

For simplicity, we first assume that w is in the z direction, so that

0
w=wk=101. (2.3.3)
w
Then we have
—Tzw
rx (wxr)=(r-rw-(r-wr=(22+y*+ 22w — 2wr = —yzw : (2.3.4)
(2° +y*)w
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Using this in Eq. (2.3.1)), we find the components of the angular momentum vector L,

L, = _g MqTgZqW,

L. = Y ma(af+yl)w. (2.3.5)
We can summarise these by writing
L, = I,w, Ly=1,w, L,=1,.w, (2.3.6)
where

I, = — Zmaxazay Iyz = - Z MaYaZa, L.= Z Mg ('Tg + y?z) : (2.3.7)
a a a

I.. is the moment of inertia as previously defined. I, and I, are sometimes known as products of
inertia.

Figure 2.1:

As an example of a simple system for which the angular momentum is not parallel the angular
velocity, consider a rigid rod with equal masses on either end (a dumbbell) inclined at an angle 6 to
the axis of rotation. If the masses are at £r then the total angular momentum is

L=mrxr+m(—r)x (—1f)=2mr x (wxr), (2.3.8)

which is clearly in a direction perpendicular to r. Because it is also perpendicular to the vector (w xr),
it has to lie on the plane spanned by w and r, and therefore it is rotating around the axis w together
with the rod.
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Using Eq. (2.3.5)), we can write the components of the angular momentum as

—2mxzw —2Ccos ¢
L= —2myzw =2mpw | —zsing | . (2.3.9)
2m(z? + y*)w p

For completeness, let us write down the angular momentum vector L for a general angular velocity
w. We have

L = Z [(rg - rg)w — (rg - w)rg]

a

Wy Zq
= Z Mq (xczz + yg + 22) wy - (wawm + yawy =+ ZawZ) Ya
a Wy Za

(yg + Zg)wx — TaYaWy — TaZaWy
= Z Mg | —TeYaws + (22 + 22)wy — YaZaw: | - (2.3.10)
a —TgZaWx — YaZaWy + (952 + yg)wz

Using linear algebra, we can write this as a product of a matrix and a vector

yc2z + Z?L —ZaYa —TqZa Wy
L= Zma —ZTala xg + zg —YaZa wy |, (2.3.11)
a —ZaZa —YaZa xg + yg Wz
or more concisely B
L=1 w, (2.3.12)
where the three-by-three matrix
_ Ipa Iacy I, yg + Z?L —ZTalYa —TqgZa
I= |1y I,, I,.|= Zma —TaYa xg + zg —YaZa (2.3.13)
o Izy I, a —ZTqZa —YaZza $¢21 + yczl

is known as the inertia tensor. In general, a tensor is a geometric object that describes a linear relation
between two or more vectors vectors. In this case, the inertia tensor describes the linear relation
between w and L, and can be represented by a three-by-three matrix. Just like the components of a

vector, the elements of the matrix I change under rotations. For more details, see Appendix A.9 in
Kibble&Berkshire.

Finally, it is often convenient to work in the component notation. Labelling the coordinates x, y
and z by 7,5 € {1, 2,3}, we can write the components of the inertia tensor in a compact form as

lij = Zma (I'Z5z‘j - Taﬂ“aj) ) (2.3.14)

where 0;; is the Kronecker delta (that is, §;; = 1if i = j and d;; = 0if i # j7), and rg; is the ith
component of the position vector r,. In the component notation, Eq. (2.3.12) becomes

Li =) Tijw;. (2.3.15)
i

19



Advanced Classical Physics, Autumn 2013 Rigid Bodies

2.4 Principal Axes of Inertia

We can make use of our knowledge of the properties of matrices to understand the meaning of the

inertia tensor I. We note that I is symmetric, I, 2y = Iyz, so that the eigenvalues of I are real. We denote
these eigenvalues by I, I» and I3 and call them the principal moments of inertia. The corresponding
eigenvectors, which we denote by &;, é; and &g are called the principal axes of inertia. They are
orthogonal to each other, and we choose them to be unit vectors. By definition, the eigenvectors
satisfy

1.8 =18, (2.4.1)

where again i € {1, 2,3}. This also means that is the angular velocity w is parallel to a principal axis,
then the angular momentum L is parallel to it.
It is convenient to work in a coordinate system based on the principal axes, and write

W= Zwiéi. (2.4.2)
1

The angular momentum is then
L=) ILuwsé. (2.4.3)
i

It is important to note that the principal axes rotate with the body. They therefore represent a rotating
frame of reference (see Chapter|l).
Using the identity (a x b) - ¢ = a - (b X c), the kinetic energy can be expressed as

T = Z%mafa-fazz%ma(wXra)~(w><ra):z%maw.[rax(era)]
a a a

1 1 = 1 9
= §w.L:§w.I.w:§ZIiwi. 2.4.4)
1

The principal axes can always be found by diagonalising the inertia tensor I, but calculations be-
come easier if one already knows their directions because then one can choose them as the coordinate
axes. It is therefore useful to know that any symmetry axis is always a principal axis, and than the
direction normal to any symmetry plane is also a principal axis.

If two of the principal moments of inertia are equal, say /1 = Iz, we say that the body is a
symmetric body. In this case, any linear combination of the &; and &5, so any two orthogonal directions
on the plane spanned by &; and &3 can be chosen as the principal axis. Note that although a system
with an axis of cylindrical symmetry, e.g. a cylinder or a cone, would certainly be a symmetric body in
this sense, it is not necessary. In fact any system with a more than 2-fold rotational symmetry would
suffice, e.g. a triangular prism, or the two principal moments could be equal just by chance in spite of
the body have no geometrical symmetry. In the case of a symmetric body, Eq. becomes

L=1 (w1é1 + wgéz) + Izwsés . (2.4.5)

If all 3 moments of inertia are equal, we say the body is totally symmetric. Again, this can happen
either by symmetry, as in a sphere, cube, regular tetrahedron or any of the five regular solids, or by
coincidence. In the case of a totally symmetric body, we have L. = Jw and L is always in the same
direction as w. In that case the choice of the 3 principal axes is completely arbitrary, as long as they
are mutually perpendicular.
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2.5 Calculation of Moments of Inertia

2.5.1 Shift of Origin

It is often useful to be able to relate the moments of inertia about different pivots, e.g. when a body
is pivoted around a point other than its centre of mass. We write the position vector r, has the sum
of the centre-of-mass position R and the position relative to the centre-of-mass r;, i.e., v, = R+ r}.
Then, by definition,

> mar; =0. (2.5.1)
a
Therefore we can write the components of the inertia tensor (2.3.14) as
* 2 * *
I; = Zma [(R2 +1)" 6 — (Ri+ 1) (R + raj)]
a
= Y mq [R5 + (r})%6i; — RiRj — vy = M (R0 — RiRj) + I, (2.5.2)

where
=3 ma [(03)%6 — ity (2.5.3)

If we know the inertia tensor with respect to the centre of mass T*, we can use these relations to easily
calculate with respect to any origin we want. This is known as the parallel axes theorem. Note that
the principal axes about a general point are not necessarily parallel to those about the centre of mass,
unless the point itself lies on one of the principal axes.

2.5.2 Continuous Solid

Generally we have a continuous solid rather than a group of point particles. In this case the sums
become integrals and the masses, m, become densities, p(r), so that we have

Lij = / p(r) (r*6i; — rir;) dr. (2.5.4)

2.5.3 Routh’s Rule

Let us now imagine that the coordinate axes have been chosen to agree with the principal axes. We
can then see from Eq. (2.5.4) that we can split the principal moments of inertia such that

=K, +K, L=K+K., Ii=K,+K, (2.5.5)

where
K; = / pri d3r. (2.5.6)
\%

It is now useful to ask how the principal moments change if we rescale (i.e. stretch or squeeze) the
body in the directions the principal axes. To do this in practice, let us first consider the original body
1% assuming that we know the constants K; defined by by Eq. (2 - The rescaled body V 18 obtalned
by rescaling the coordinates as r; = a;7; foreach i € {1, 2, 3}. The constants K; in Eq. 6)) change
to

K; = / pm2 dedydz = alagagag/~ pf? dzdygdz = alagaga%f(i. (2.5.7)
1% 1%
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We can also note that the total mass of the body V' is
M = / pdrdydz = alagag/ pdzdydz = alagagM, (2.5.8)
\% \%4
where M is the mass of the original body. Hence K; a?M , and we can write

K; = \ia?M, (2.5.9)

where ), is a dimensionless number, which is the same for all bodies of the same general type. Hence
we have Routh’s rule which states that

It = M (M\ai+X.a2),
I3 = M (M\al+\a?), (2.5.10)
I3 = M(M\ai+ )\yaz) .

By checking the standard bodies we obtain the following values for the coefficients: A\ = % for

‘rectangular’ axes, A = % for ‘elliptical’ axes and A\ = % for ‘ellipsoidal’ ones. This covers most
special cases. For example, a sphere is an ellipsoid with a, = a, = a., = a and each principal moment
of inertia is %M a?, whereas a cube is a parallelepiped with a, = ay =a; =aand [ = %M a’.

For a cylinder we have A\, and A, elliptical and A, rectangular. This nomenclature can be confus-
ing as it refers to the symmetry of the corresponding integrals and not to symmetry about the axes.
For a cylinder with a, = a, # a. we have

I[=I3=M(ta2+31a2) I =M(3a2+1a2)=1iMad2, (2.5.11)
and therefore a flat circular plate, i.e. a cylinder with a, = 0, has
I} =0y =Ma2 I} =3iMadl. (2.5.12)
Conversely, a thin rod is a cylinder with a;, = a, = 0 and
I} =13 =1iMa> I53=0. (2.5.13)
2.6 Effect of Small Force
Suppose a body is rotating about a principal axis such that w = wés and L = I3wés. Then
L=TILw=0, (2.6.1)

the axis will remain fixed in space and the angular velocity will be constant. Note that this would not
be true if w were not a principal axis.

Suppose now that the axis is fixed at the origin and a small force F is applied to the axis at point
r. Then the equation of motion becomes

L=rxF. (2.6.2)

The body will acquire a small component of angular velocity perpendicular to its axis. However, if
the force is small, this will be small compared with the angular velocity of rotation about the axis. We
may then neglect the angular momentum components normal to the axis and again write

L=Lw=rxF. (2.6.3)
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Figure 2.2:

Since r x F is perpendicular to w (r is parallel to w) the magnitude of w does not change (dw?/dt =
2w - w = 0). Its direction does change, however, in the direction of r X F and hence perpendicular to
the applied force F.

As an example, consider a child’s spinning top. In general, the rotation axis is not exactly verti-
cal. We consider the point as which the top touches the ground as the pivot point, and use it as our

origin. There is a gravitational force F = — M gR, acting at the centre of mass at position R = Rés.
Eq. (2.6.3) gives
de N
Igwg — _MgRé; x k
dés MgR\ -~
dt ( Izw > & ( )
This has the same form as Eq. (I.2.1)), i.e.,
dés
— =0 xé 2.6.5
dt €s, ( )

Which means that the principal axis &3 rotates around the vertical direction k with angular velocity

M ~
o= Maltp (2.6.6)
Isw

The analysis is only valid when < w or when MgR < I3w?; the potential energy associated
with the tilt is much smaller than the kinetic energy of the rotation. The system is very similar to
Larmor precession (see section [I.6.4). The expression for € tells us a great deal about this system.
Note that 2 is inversely proportional to both the moment of inertia /3 and the angular frequency w.
This implies that to minimise the precession and hence to improve the stability of the system we have
to choose both to be large: we require a fat rapidly spinning body.

This is the basis of the gyroscope: the high stability of such a rapidly rotating body makes it ideal
for use in navigation, especially near the poles where a compass is almost useless. It can also be used,
e.g. , to provide an “artificial horizon” when flying blind, either in cloud or at night.
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2.7 Rotation about a Principal Axis

As the principal axes are fixed in the body we are really dealing with a rotating frame. We here return
to the notation used in Section |1|to distinguish between the inertial and rotating frames. The rate of
change of the angular momentum in the inertial frame is

dL
o => raxF,=7. (2.7.1)
a
Eq. (Rot:eq:7) relates this to the rate of change measured in the rotating frame,
dL dL
—| = = L. 2.7.2
a|, A, e (27.2)

On the other hand, because in the rotating frame the principal axes and principal moments are fixed,
we have

dL A . . A
—| = Lw1é1 + Ioweés + Izwsés, (2.7.3)
dt |g
and, therefore,
dL
—| +wxL=rT. 2.7.4)
Calculating the cross product
&1 &9 é;3
wxL = w1 w2 w3
Ilwl 12w2 Igwg
= (I3 — I)wowsé) + (I} — I3)wiwsés + (Io — I )wiweés, (2.7.5)
we find the Euler equations
Loy + (I3 — L) wows = 71,
Irwo + (Il — Ig) w3awp = Ty, (2.7.6)
I3ws + (Ia — I1)wiws = T3.

In principle these equations could be solved to give w(t). In practice, however, we often don’t have
the force expressed in a useful form to do this and, in any case, it is easier to solve this system using
Lagrangian methods (see chapter [3)).

For the moment we concentrate on studying the stability of the motion in the absence of external
forces (7 = 0). Suppose that the object is rotating about the principal axis €3 and that w; = we = 0
then it is obvious from Eq. that the object will continue indefinitely to rotate about é3. On the
other hand let us suppose that the motion deviates slightly from this such that w; and ws are much
smaller than w3. We may therefore ignore any terms which are quadratic in w; and ws so that, from
the third line in Eq. (2.7.6)), we have w3 = 0 and ws is constant.

We look for solutions of the form?]

wp = aet wo = aget 2.7.7)

>Those doing computational physics will note the similarity between this analysis and the stability analysis considered
there.
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where a1, as and y are constants. Substituting this into Eq. (2.7.6) gives
Iiva + (I3 — 12) wzas = 0 (2.7.8)
Iryas + (Il — 13) wsa; = 0, (2.7.9)

which is a 2 x 2 eigenvalue problem with a solution

I —I) (I — I
o s 2]_)1;21 3) 2. (2.7.10)

We note that w% /1115 is always positive. Hence, if I3 is the smallest or the largest of the 3 moments
of inertia v? is negative. In that case  is imaginary and the motion is oscillatory. Hence its amplitude
does not change, and we say that the rotation is stable.

However, if I3 is the middle of the three moments then v is positive and  is real. There are two
independent solutions with opposite signs of ~y, and in general the solution is a linear combination
of them. However, at late times (¢ > 1/+) the solution with a positive exponent dominates. Hence
w1 and wo tend to grow exponentially and the motion about €3 is unstable: any small deviation from
rotation about &3 will tend to grow.

You can test this by trying to spin an appropriately dimensioned object, such as a book or a tennis
racket. It is much easier to spin it around the axis with the smallest or the largest moment of inertia,
but not the middle one.

2.8 Euler’s Angles

Figure 2.3:

In order to describe the orientation of a solid body we require 3 angles. The conventional way to
do this is to define angles (¢, 6, 1)) these is known as Euler’s Angles,, which are illustrated in Fig.
Note however that there are several different conventions for Euler’s Angles. We shall stick to the one
used by Kibble & Berkshire, known as the y—convention. The meaning of the angles is, essentially,
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that ¢ and 0 are the usual spherical coordinates expressing the direction of the principal axis €3, and
1) expresses the orientation of the object about this axis.

Let us construct the angles in detail. We can obviously express the orientation of the body by giv-
ing the orientations of the three principal axes, i.e., by a triplet of orthogonal unit vectors (&, &2, &3).
To show tpat we can parameterise these with the three Euler angles, let us start with the orienta-

tion (2, 7, k), which means that the principal axes are aligned with the axes of our original Cartesian
coordinate system. As illustrated in Fig.[2.3] we then carry out three steps:

e We first rotate by ¢ about the k axis. The changes the directions of the first two principal axes,
and we denote the new directions by &/ and &,. Thus, the orientation of the principal axes
changes as (2, 7, k) — (&7, &}, k).

e Secondly we rotate by @ about the second principal axis &,. This changes the directions of the
first and third principal axes to & and &s, so the orientation of the body changes as (&7, &5, k) —

(éll’é/27é3)

e Finally we rotate by 1 about the third principal axis és, to bring the first principal axis to
direction &; and the second principal axis to &, i.e., (&), &5, &3) — (&1, &2,&3).

Using these three rotations we can reach any orientation (&1, &2, €3) we want, and therefore the ori-
entation of the body is fully parameterised by the three Euler angles.

Because the three angles (¢, 6, 1) correspond to rotations about the axes k, &, and &3, respectively.
Note that these axes are not mutually perpendicular. We can, nevertheless, use them to express the
angular velocity w in terms of Euler angles as

w = ¢k + 08}, + ;. (2.8.1)

For a symmetric system such as a gyroscope we can choose €3 as the symmetry axis and, as
I; = I, any two mutually perpendicular axes as the other two. In this case the most convenient
are &) and &, as two of the axes are already used in Eq. . We can therefore use that k =
—sin 0 &) + cos 0 &3 to obtain

w = —¢sinh&) + 08, + (w + ¢ cos 9) &3, (2.8.2)

where the unit vectors are mutually perpendicular and, for a symmetric body, principal axes.
Using Eq. (2.8.2), we can express the angular momentum and kinetic energy as

L = —Lbsin0&, + L&)+ I (w + deos 9) &3 (2.8.3)
. . . . 2
T = IngPsin?0+ 106+ 1l (§+ deost) (2.8.4)

To find equations of motion we could either translate this into Cartesian coordinates, 2, j, k, or try
to write the equations in terms of the Euler angles. Either way is difficult. It is much easier to use
Lagrangian methods (see Chapter |3).

In the meantime we can consider the free motion, with no forces. In this case L is a constant. We
therefore choose the vector k to be in the direction of L such that

L =Lk =—Lsinf&, + Lcoshés. (2.8.5)
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This must be equal to Eq. (2.8.3) so that by equating components we can write

Iidsind = Lsinb (2.8.6)
L = 0 (2.8.7)
I3 (¢+q50089> = Lcosf (2.8.8)

From Eq. ll we deduce that 6 is constant. As long as sin 6 # 0, Eq. |i implies that that q§ is

constant, too,
L

h=— 2.8.9
¢ I (2.8.9)
and hence, from Eq. |i we find that ¢ is also a constant,
Y = Lcosf L1 (2.8.10)
=LcosO | ———|. 8.
Is I

We conclude therefore that the axis &; rotates around L at a constant rate ¢ and at an angle 6 to it. In
addition the body spins about the axis €3 at a constant rate ¢. The angular velocity vector w deduced

from Eq. (2.8.2) is
w=—¢psinf&) + <w + ¢ cos 9) &3 (2.8.11)

which describes a cone around the direction of L.

Note that this appears very similar to precession (see Section[2.6): ¢ is the angle of rotation of the
gyroscope around its axis, 6 is the angle between the gyroscope axis and the angular momentum and
¢ is the angle which describes the precession around this direction. However, here we are describing
free rotation with no external forces involved.
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Chapter 3

Lagrangian Mechanics

3.1 Action Principle

In this chapter we will see how the familiar laws of mechanics can be expressed and understood from
a very different point of view, which is known as the Lagrangian formulation of mechanics. This is in
many ways more elegant than the Newtonian formulation, and it is particularly useful when moving
to quantum mechanics. For example, quantum field theories are usually studied in a Lagrangian
framework.

The idea is similar to Fermat’s principle in optics, according to which light follows the shortest
optical path, i.e., the path of shortest time to reach its destination. As a reminder, let us see how Snell’s
law

sin 02 ni

= — 3.1.1
sin91 ??,27 ( )

which tells how a light ray bends at the interface of two materials with refractive indices n; and na.

Consider a light ray from point (z4,vs) to (zp,y,). There is a horizontal interface at y, and
between y, and y, the refractive index is n; and between y and y, it is no. We now assume that the
light follows a straight line from (x,,y,) to a point (x,y) on the interface, and then from (z,y) to
(b, yp). The only unknown is therefore . Because of the speed of light in medium is ¢/n, the optical
path length is

/ it = / 2= = \/ (= 2a)? + (Y —ya)? + — \/ (zp — ) (o —y)?. (3.1.2)

According to Fermat’s principle, we need to find the minimum of this quantity. At the minimum, the
derivative with respect to x vanishes, so

o5 m T — Tq N9 Ty — T ny . ny .
0= — = — — = —sinf; — — sinf,,
c

Oz C\/x—xa (Y — ya)? C\/:Ub—iv (o —y)* ¢
(3.1.3)

from which Snell’s law (3.1.1)) follows immediately.

Fermat had proposed his principle in 1657, and it motivated Maupertuis to suggest in 1746 that
also matter particles would obey an analogous variational principle. He postulated that there exists a
quantity called action, which the trajectory of the matter particle would minimise. This idea was later
refined by Lagrange and Hamilton, who developed it into its current form, in which the action S is
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defined as an integral over a function L(x, &, t) known as the Lagrangian, as

S[a] = /t " L), (), ). (3.1.4)

The Lagrangian is a function of the position = and velocity & of the particle, and it may also have some
explicit time dependence. We will see later that for conservative systems, the Lagrangian is simply
the difference of the kinetic energy 71" and the potential energy V,ie., L=T — V.

Because the action S is given by an integral over time, it depends on the position and velocity
at all times, i.e., on the whole trajectory of the particle. It is therefore a function from the space of
functions x(t) to real numbers, and we indicate that by having the argument (i.e. function z) in square
brackets. Such function of functions are called functionals.

Given a Lagrangian L, the dynamics is determined by Hamilton’s principle (or action principle),
which states that to move from position x, at time t,, to position xy at time ty, the particle follows the
trajectory that minimises the action S|x]. In other words, the actual physical trajectory is the function
x that minimises the action subject to the boundary conditions z(t,) = z, and z(t) = .

To find this minimising function x(¢), we want to calculate the derivative of the action S[z| with
respect to the function z(t) and set it to zero. Functional derivatives such as this are studied in
the branch of mathematics known as functional analysis. However, he we adopt a slightly simpler
approach and consider small variations of the trajectory. This is known as variational calculus.

Let us assume that x(¢) is the function that minimises the action, and consider a slightly perturbed
trajectory

Z(t) = x(t) 4+ dz(t), (3.1.5)

where we assume that the perturbation is infinitesimally small and vanishes at the endpoints,
0x(ty) = 0x(ty) = 0. (3.1.6)
This perturbation changes the action by
08 = Sz +o0x] — S[x]
= /tb [L(z(t) 4+ 0x(t), z(t) + da(t),t) — L(x(t), (t),t)] dt

la

b [OL oL .
= /t {%MQH%M@] dt

N e

Ox ot dt
b AL oL bt [ d AL
= —ox(t)dt —ox(t — —_—— t)dt 1.7
[ S o] - [ G5 617

where we Taylor expanded to linear order in dz(t) and integrated the second term by parts. Because
of the boundary conditions (3.1.6)), the substitution term vanishes, and we have

b 1oL  d oL
= /t Lﬂ)x B dt&a‘c] oz (t)dt. (3.1.8)

For z(t) to be minimum, the variation of the action (3.1.8) has to vanish for any function dz(t).
You can see this by noting that if 6S < 0 for any perturbation dz(¢), then S[z + dz] < S|x].
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Correspondingly, if 8.5 > 0, then S[z — dx] < S[z]. In either case, we have found a function that has
lower action than z(t). Therefore x(t) can only be the minimum if 65 = 0.
The only way we can have .5 = 0 for every perturbation dz(t) is that the expression inside the

brackets in Eq. (3.1.8)) vanishes, i.e.,

i&j — oL = (3.1.9)
dt 0r Oz
This is known as the Euler-Lagrange equation, and it is the equation of motion in the Lagrangian
formulation of mechanics. When using Eq. (3.1.9), it is very important to understand the difference
between the partial (9) and total (d) derivatives.

To check that Eq. (3.1.9) really describes the same physics as Newtonian mechanics, let us con-
sider a simple example of a particle in a one-dimensional potential V' (x). Because the system is
conservative, the Lagrangian is

1
L=T-V = 5mgz;?—V(gc), (3.1.10)

and the Euler-Lagrange equation is

doL 0L d av av
22z =2 — =mi+—=0. .11
itor  ar a0 G-LID
This is nothing but Newton’s second law
av
mi=——. (3.1.12)
dx

It is interesting to note that although Newtonian and Lagrangian formulations of mechanics are
mathematically equivalent and describe the same physics, their starting point is very different. New-
ton’s laws describe the evolution of the system as an initial value problem: We know the position and
velocity of the particle at the initial time, x(¢,) and Z(t,), and we then use Newton’s laws to determine
the evolution x(t) at later times ¢ > .

In contrast, the Lagrangian formulation describes the same physics as a boundary value problem.
We know the initial and final positions of the particle x(t,) and z(t;), and we use the action principle
to determine x(t) for t, < t < ty, i.e., how the particle travels from one to the other. In particular,
we cannot choose the initial velocity because it is determined by the final destination of the particle
through the action principle. This may appear very non-local in time because the behaviour of the
particle in the far future determines its motion at the current time. However, because because the two
formulations are equivalent, this apparent non-locality in time does not actually affect the physics. For
example, it is not possible to use it to send information back in time. In practice, it is usually easier to
solve initial value problems, and therefore one usually uses the Lagrangian formulation to set up the
problem and derive the equations of motion but then solves them as an initial value problem.

In many ways the Lagrangian formulation is closer to quantum mechanics, which does not allow
one to determine the initial position and velocity of the particle either. Furthermore, the principle
that the particle chooses one out of all possible trajectories resembles the double slit experiment in
quantum mechanics, with the key difference that in the quantum case one has to sum over all possible
trajectories rather than just selecting one. This correspondence turns out to be fully accurate and
becomes obvious in the path integral formulation in quantum mechanics.
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3.2 Generalised Coordinates

One attractive aspect of the Lagrangian formulation is that it is independent of the variables that are
used to describe the state of the system. This is because the minimum of the function does not depend
on the coordinate system, and the same applies to a functional such as the action S. Therefore, in
contrast with Newtonian mechanics, we do not have to use the Cartesian position coordinates, and the
Euler-Lagrange equation still has the same form (3.1.9). Instead, we are free to choose whichever set
of variables we want to parameterise the state of the system, and which are then called generalised
coordinates and usually denoted by ¢. They can be position coordinates, but also angles etc.

Usually we need more than one generalised coordinate, which we label by index ¢, so that we
have some number N generalised coordinates ¢;, with ¢ = 1,..., N. Each coordinate satisfies the
corresponding Euler-Lagrange equation

doL oL _,

cos gh 2.1
&0 og ©-2-1)

As the first example of generalised coordinates, let us consider a simple pendulum that has a mass
m at the end of a light rod of fixed length . The angle of the pendulum from the vertical position is 6,
which we choose as the generalised coordinate ¢ = . The Lagrangian is

1 .
L=T-V = 5ml262 + mgl cos 6. (3.2.2)

The Euler-Lagrange equation is

doL OL d

doL 9L _d [ o .
58~ 5 dt( 19)+mglsm9 mi% + mglsin @ = 0, (3.2.3)

from which we find )
j— —% sin 6. (3.2.4)

As a slightly more complex example, let us consider the motion of a particle in a central potential
V(r) in three dimensions. We use the spherical coordinates (r, 6, ¢) as the generalised coordinates.
The Lagrangian is

1 ) )
L=T-V=3m (fﬁ? + 7202 1 1242 sin? 0) — V(). (3.2.5)

The Euler-Lagrange equation for 7 is

doL oL _ d
dt or  Or dt

(mi) — mr (9’2 + % sin? 9) n % =0, (3.2.6)

which gives
av
O
The second term on the right hand side is the force due to the potential, and the first term is the
centrifugal force.

The Euler-Lagrange equation for 6 is

mi = mer ((92 + % sin? 9) - (3.27)

d aL aL o d 24 252 . .
@% 0= @ (mr 0) mr-¢*sinf cosf = 0. (3.2.8)

31



Advanced Classical Physics, Autumn 2013 Lagrangian Mechanics

Finally, because ¢ does appear in the Lagrangian (except as a time derivative q.S), the Euler-Lagrange
equation for ¢ is
doL 0L doL

it e 329
dt 9¢p 09  dt 9¢ ( )
This means that the quantity
8—L = mr?sin qu (3.2.10)
99

is conserved. We note that this is simply L., the z component of the angular momentum vector
L=mrxr.
We can easily see that this is, in fact, a very general result. For any generalised coordinate ¢;, we

define the generalised momentum p; by
pi = 87L 3.2.11)
94
The Euler-Lagrange equation implies that whenever the Lagrangian does not depend on g;, then the
corresponding generalised momentum p; is conserved. This is a simple example of a more general
result known as Noether’s theorem, which we will come back to later.

As a very simple example, let us consider the Cartesian position coordinate x as our generalised

coordinate. With the Lagrangian L = %m:’vQ — V(x), the generalised momentum is simply the

conventional momentum p = 9L/0% = ma.
3.3 Precession of a Symmetric Top

Let us now consider an example of the use of Lagrangian mechanics to solve a real problem: a
symmetric top. The kinetic energy is given in terms of Euler angles by Eq. (2.8.4) whereas the
gravitational potential energy is V' = M gR cos . This leaves us with a Lagrangian

. . . 2
L= %Ilch sin? 6 + %1192 + %Ig (w + ¢ cos 0) — MgRcos#. (3.3.1)

The Euler-Lagrange equation (3.2.1)) for 6 is

d

T <119> = 11¢2 sinfcosf — I3 (¢ + ¢cos 6) qﬁsmﬁ + MgRsin6 . (3.3.2)

The Lagrangian function (3.3.1) does not contain the other two Euler angles ¢ and 1 so the generalised
momenta py = OL/J¢ and py, = 0L/0v) are constant

% [IlésiHQ 0+ 1 (1/) + ¢ cos 9) cos 0} =0 (3.3.3)

d
= [13 (zp + deos 9)} — 0. (3.3.4)
Note that comparison of Egs. (3.3.4) and (2.8.2) tells us that
= 1) 4+ ¢ cos § = constant. (3.3.5)

We are interested in the situation of steady precession at a constant angle ¢. In this case we
conclude from Eqs. (]3 3. 3[) and (]3 3. 4[) that gb and 1/1 are constant. Hence the axis of the top precesses
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around the vertical with a constant angular velocity, which we denote by €2, i.e., gzﬁ = (2. Because we
are looking for a solution with fixed 6, the left side of Eq. (3.3.2) must vanish, and we obtain

I19% cos 0 — IawsQ + MgR =0, (3.3.6)

which we can solve for 2. The general solution is

_ Tzws =+ \/I§w§ — 41 MgRcos 6

Q 3.3.7
211 cos 6 ( )
This only has real roots if
4IiMgRcos0
Wi > W= # (33.8)
3

If the top is spinning more slowly than this, there is no solution with constant . Instead, the top starts
to wobble.
For a rapidly spinning top, ws > w,, we can expand the square root in Eq. (3.3.7) to obtain

O~

Toiom T (1_2M> i
3wz + Jaws 122 —>{ MgR/Izws  —sign (3.3.9)

214 cos 0 Isws /Iy cos®  +sign

The first of these is the precession frequency calculated in (2.6.6), while the second is the precession
of a free system discussed in section [2.8] Note the absence of any contribution from gravity in the
second expression.

Note that if § > %71', the top is hanging below its point of support, and there is no limit on ws3. In
particular, for ws = 0, we find the possible angular velocities of a compound pendulum swinging in a
circle
MgR

Q=+ ———
I |cos 6|

(3.3.10)

3.4 Constraints

Consider a system of NV particles in three dimensions. To specify the position of each particle, you
need 3NN generalised coordinates. However, in many cases the coordinates are not all independent but
subject to some constraints, such as the rigidity conditions (see Section[2.2)), which reduce the number
of generalised coordinates required. For a rigid body, the original 3N coordinates may be reduced to
six generalised coordinates: three translational, such as the coordinates X, Y, Z of the centre of mass,
and three rotational, such as the Euler angles, ¢, 8, 1.

We will assume that the constraints can be written in the form f(z1,...,x3y,t) = 0. Constraints
like that are called holonomic. For a rigid body, the constraints are of this form: The distance between
each pair of particles 7 and j is fixed to a constant d;;, and therefore one has

(r; —1;)> —d;; = 0. (3.4.1)
Another example is motion on the surface of a sphere of radius R, for which the constraint is
flz,y,2) =2> 49>+ 22— R*=0. (3.4.2)

Sometimes one has to deals with non-holonomic constraints, for example if the constraint depends on
velocities, but these are more complicated to handle, and we will not discuss them in this course.
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In principle, solving each constraint equation eliminates one coordinate. If one has initially NV

coordinates x; (with ¢ = 1,..., N) and C' constraints, solving them will allow one to express the
original coordinates in terms of M = N — C generalised coordinates ¢;, with j = 1,..., M,
xi:xi(ql,...,qM,t), (343)

with possibly explicit time-dependence if the constraints are time-dependent. In that case the system
is called forced, otherwise it is natural.

If one can solve the constraints and find the explicit relations (3.4.3), one can then write the
Lagrangian in terms of the generalised coordinates g; and solve the Euler-Lagrange equation. Substi-
tuting this solution to Eq. (3.4.3) then gives the solution in terms of the original coordinates.

An alternative approach, which is sometimes useful, is to implement the constraints us-

ing Lagrange multipliers. Starting with a Lagrangian L(zj,...,xy) and a constraint function
f(z1,...,2N), we define a new Lagrangian L'
L/(l’l, ..., TN, /\) = L(l’l, e (L‘N) + /\f(:L’l, .. ,.CCN), 3.44)

which is a function of the original coordinates and a Lagrange multiplier A. If we now treat A as the
(N + 1)th coordinate, its Euler-Lagrange equation is
doL" oL
dt o\  ON

and therefore it satisfies the constraint automatically. The Euler-Lagrange equations for the original
coordinates are

flxy,...,xzn) =0, (3.4.5)

T (U
where the extra term can be interpreted as the (generalised) force that has to be applied to the system
to enforce the constraint.

As an example, consider a mass m hanging from a rope that is wrapped around a pulley of radius
R and moment of inertia I. Using the vertical position z of the mass, and the angle € of the pulley as

the coordinates, the Lagrangian is

0, (3.4.6)

1 1.
L:T—V:§m¥+§wﬂwmg (3.4.7)
If the rope does not slip, the pulley has to rotate as the mass moves, and this imposes a constraint
RO = —Z. Choosing the origin appropriately, we can write this as a holonomic constraint
f(0,z) =RO+2z=0. (3.4.8)

Introducing the Lagrange multiplier A, the new Lagrangian is

1 1_.
L%:L+Auw+zy:?n¥+§nﬂ_nwg+Agw+zy (3.4.9)
The Euler-Lagrange equations are

d
ami—kmg—)\ = 0 forz,

gjé—AR = 0 ford,

dt

—(RO+2z2) = 0 forA (3.4.10)
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The third equation implements the constraint § = —z/ R, and substituting this to the first two gives
mi+mg—A = 0,
1
__3_)XR = 0. 34.11
R* ( )

Solving this pair of equations for Z and A, we obtain

1
(m—|—RQ>é+mg = 0,

mg
A= —. 3.4.12
14+ mR?/I ( )
The first line shows that the moment of inertia I of the pulley gives the mass extra inertia. The second
line gives the force that rope has to apply in order to enforce the constraint. This is just the tension of

the rope.

3.5 Normal Modes

3.5.1 Orthogonal Coordinates

Instead of rigid constraints, let us now consider a situation where the constraints are flexible so that
the particles can move around their equilibrium positions. We assume that the system is described by
N generalised coordinates g;. We also assume that it is natural, which means that the kinetic energy
is a quadratic homogeneous function of the generalised velocities. We can then write it as

1 . .
T=; > ai(q- - an)dids, (3.5.1)
ij

where the coefficients a;; can depend on the coordinates ¢; but not on velocities ¢;. They can chosen
to be symmetric (aj; = a;;) without any loss of generality.

The coordinates are said to be orthogonal if there are no cross terms, i.e., a;; = 0 if ¢ # j. Then
the kinetic energy is simply

1 .
T=; Z aii(qis - .. qn) 2. (3.5.2)
1

We can always make our coordinates orthogonal by using the Gram-Schmidt procedure. For example,
if N = 2, the general form of Eq. (3.5.1)) is

T = §a11di + ar2dide + 5azds - (35.3)
Defining a new coordinate
ai12
G=a+—a, (3.5.4)
ai
the kinetic energy becomes
1 <12 1./ -2 . / a%2
T = 5a1141" + 509965 with a5 = a2 — Pt (3.5.95)
11

Furthermore, if we rescale the coordinates in Eq. (3.5.2) by
4 = \/aiigi, (3.5.6)
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Figure 3.1: Double pendulum

the kinetic energy becomes
1 79
T — 3 Z G2 (3.5.7)
7

Therefore we can always assume that the kinetic energy has this form.
As an example, consider a double pendulum, with a second pendulum hanging from the first. The
kinetic energy is

1 . 1 ) 2 ) ) ) ..
T = 5MR2 +5m (R n f) = LMR2% + 3m | R20? + r23* + 2Rrf¢ cos(0 — ¢>)] (3.5.8)

where M, R and 6 refer to the upper pendulum and m, r and ¢ to the lower. Note that the kinetic
energy of the lower pendulum depends not only on ¢ but also on the motion of the upper pendulum to
which it is attached. For small values of # and ¢ we can set the cosine term to one, so that the kinetic
energy is
T = 5(M +m)R%0* + tmr?¢? + mRré. (3.5.9)
However, because of the last term, the coordinates are not orthogonal. In this case it is obvious that
we could get an orthogonal set by simply considering the displacement of the 2 bobs. For small angles
this gives
x = RO y=RO+ro, (3.5.10)

and the kinetic energy, 7', becomes
T = IMi* + Imy?®. (3.5.11)
Finally, we can reduce this to the standard form (3.5.7) using
g =VMx G =Vmy. (3.5.12)

3.5.2 Small Oscillations
We now consider the potential energy, V. If T' is given by (3.5.7), the Lagrangian is

]. ‘l2
L:T—V:§Zqi — V(g qn). (3.5.13)
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The Euler-Lagrange equations are then simply

B oV
dq;’

Gi = (3.5.14)

for all 4.

If we now assume that the amplitude of the oscillations is small, we can Taylor expand the potential
around the origin, which was chosen to correspond to the equilibrium state. To quadratic order we
have

Vig,...,qn) = Vo + Z bigi + 3 Z kijqiq; + O(q°), (3.5.15)
i i
where V), b; and k;; are constants.

Because we can subtract a constant from the potential without changing the equations of motion
(3.5.14), we are free to choose Vy = 0. Because we are assuming that the equilibrium state is ¢; = 0
for all ¢, we find that b; = 0. Therefore, we only need to consider the quadratic term

V=1 kijag, (3.5.16)
ij
Note that we can also choose £;; to be symmetric, i.e., kj; = k;; without any loss of generality.
With the potential (3.5.16), the Euler-Lagrange equation (3.5.14)) is simply

Gi = — Z kijq;, (3.5.17)
J
which can be written in matrix form as

q1 ki1 ki - kN q1

d? q2 ko1t koo -+ kon q2
—_— = — 3.5.18
o A . (3.5.18)

N kni kn2 -+ knn qN
By defining an N-dimensional coordinate vector @ = (¢1,...,qn) and an N x N matrix k with

elements k;;, we can also write it more compactly as

q=-k-q. (3.5.19)
In the same notation, the Lagrangian is

1 1 =
L=34-4-5akq (3.5.20)

In our double pendulum example, the potential is
V(0,¢) = MgR(1—cosf)+mg[R(1—cosf)+ r(l—cose)]

1 1
~ §(M +m)gRO? + imgrgbz
M+m o mg

- ga® + 29y — a2

2R 2r
1 mR+r\ g o g 5 m g
= — (14 — = g5 — 4/ —= . 3.5.21
2< +M " >Rq1+2rq2 A ( )
The coefficient matrix is therefore
— mRBR+ry g _ /mg
k= <(1 ) h ng>. (3.5.22)
M r r
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3.5.3 Eigenvalue Problem

Eq. is a set of N coupled linear second-order equation. Therefore we should find 2V linearly
independent solutions.
We look for solutions of the form
q(t) = Ae™t, (3.5.23)

where A and w are constants. We will check later that we have found all 2V solutions.
Substituting the Ansatz (3.5.23) into Eq. (3.5.19) gives

WAt = K. Aet (3.5.24)

which is equivalent to B
k-A=uw’A. (3.5.25)

This has the form of the eigenvalue equation: It shows that A is an eigenvector of the matrix k with
eigenvalue w?.
We know from linear algebra that the eigenvalues of a matrix are given by solutions of the char-

acteristic equation

k11 — w? k12 e k1N
— = ko1 kog —w? .- kon
det(k —w®l) = . . ] . =0. (3.5.26)
knt ke s kyn — w?

Once we have found the eigenvalue w?, we can substitute it to Eq. (3.5.25) to find the eigenvector.

Because k is a symmetric N x N matrix, it has N real eigenvalues wg, where o = 1,..., N,
corresponding to IV eigenvectors A, which we can choose to be orthonormal,

A, Ag =iqs. (3.5.27)
For each eigenvalue w?, there are two independent solutions,
qQf(t) = Age™et and q (t) = Age ™ot (3.5.28)

For N eigenvalues, this takes the total number of linearly independent solutions to 2NV, proving that
we have the complete solution.

The frequencies w,, are real because the eigenvalues w? have to be non-negative: If we had w? <
0, then for the corresponding eigenvector A, and small € we would have

1 = 1
V(eA,) = 562Aa ‘k-A, = 56%3 <0, (3.5.29)

meaning that g = 0 could not be the minimum of the potential as we assumed.
The individual solutions g are complex, so physical solutions have to be real linear combinations
of them,

a.(t) = arql(t) +a_qy(t) = (a+6i“’°‘t + a_efiw”‘t) A,
= [(a+ +a_)coswat + i(ay —a_)sinwat] Ag. (3.5.30)
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Because we want a real solution, the coefficients a; = (a4 + a—) and ag = i(ay — a_) have to be
real, and we can equally well write

q,(t) = (a1 coswat + azsinwyt) Ay, (3.5.31)
which we can also write a pure cosine term with a phase shift,
q,(t) = ccos(wat + ¢)Aq, (3.5.32)

where c and ¢ are real constants that have to be determined from the initial conditions.
Finally, the general solution is a linear combination of solutions of the form (3.5.32]),

N
q(t) = cacos(wat + ¢a)Aq. (3.5.33)
a=1

The modes of vibration of the system, i.e., the individual solutions (3.5.32)) are known as normal
modes. For a forced system there are resonances at the frequencies of the normal modes.

It is often useful to use the normal modes to define a set of generalised coordinates known as the
normal coordinates, which we denote by G,. They are defined by expressing the original coordinates
@; in terms of the eigenvectors A, as

q=> GoAa (3.5.34)
«
Substituting this to Eq. (3.5.20)) we find that the Lagrangian becomes simply
Lo 1 9.
L=>)" o — 5wada ) - (3.5.35)

e
The Euler-Lagrange equations are

Go + Wiida =0, (3.5.36)

which means that each normal coordinate g, oscillates independently of all others with its own normal
frequency wy,.

3.6 Continuous Systems

In addition to mechanical systems consisting of a finite number of degrees of freedom, one is often
also interested in continuous systems, for example waves propagation in continuous media or field
theories describing particle physics or electromagnetism.

To see how continuous systems are described in the Lagrangian formulation, consider a stretched
string. We assume that in equilibrium the string is stretched to length ¢y and has tension k. The
displacement of the string from its equilibrium position is given by the continuous function y(x, t),
where x € {0, ¢y }. To describe the time and space derivatives, we use the notation

9 %

=5 V= (3.6.1)

Y

The Lagrangian is still given by the difference of the kinetic and potential energies, L =T — V.
The kinetic energy can be calculated by considering an infinitesimal segment of length dz. The mass
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of such a segment is dm = pdx where the constant p is the mass per unit length. The velocity of the
segment is simply ¥, and therefore the kinetic energy of the infinitesimal segment is

1
dT = S dx 2. (3.6.2)
Integrating over the who distance ¢y, we find the total kinetic energy

Lo 1
T = dx =i (3.6.3)

0 2

The potential energy is V' of the string is due to its tension k,

V =k —{), (3.6.4)

where / is the length of the displaced string. Again, this can be calculated by considering an infinites-
imal segment of length dx. According to Pythagoras theorem, the length of the segment is

1
dl = \/dz? + dy? = \/1 + y2dz ~ (1 + 2y’2> de, (3.6.5)

where we have assumed that the displacement is small and smooth so that 3/ < 1, and Taylor ex-
panded to quadratic order. The length of the string is then obtained by summing over all the infinites-

imal segments
{= / dz <1 + y'2> =Y +/ dz=y"?, (3.6.6)
0 2 0 2

and therefore the potential energy is

Lo
V= dz= k:y’Q (3.6.7)
0
We can now write the whole Lagrangian,
Yo 1
L:T—V:/ dx( y—k:y) (3.6.8)
0
The integrand is called the Lagrangian density and denoted by £, i.e., L = [ dzL, where
1 1
L= -uy*— ~ky? 3.6.9
Y = SRy (3.6.9)
The action is then given by an integral over both time and space,
S = /dt / dzL(y,y,y). (3.6.10)

Variation of the action is

oL d oL d oL 0L
t — —1—— +— t —_——— 4+ —
6S = /d /d [ -0y 5y’ 5} /d /d [ L 90 iz Oy 9y

(3.6.11)
The action principle 6,5 = 0 therefore leads to the Euler-Lagrange equation
ig—ﬁ,+i%—a—£: (3.6.12)
dt 0y  dxr oy Oy
Substituting the Lagrangian density (3.6.9)) for the string, we find the equation of motion
d d
— () + — (—ky') = pij — ky" =0 3.6.13
7 (1) + = (=ky') = pij — ky" = 0, (3.6.13)

which is the wave equation, as one would expect.
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Chapter 4

Hamiltonian Mechanics

4.1 Hamilton’s Equations]

In the Lagrangian formulation of mechanics, the state of the system is descibed by a set of N gener-
alised coordinates ¢; and and their time derivatives ¢;. For brevity we shall write it in the form L(q, ¢)
and let the ¢ and ¢ stand for the whole set.

In Eq. we defined the generalised momentum p;(q,§) = OL/Jg;. The basic idea of
the Hamiltonian formulation of mechanics is to use coordinates and momenta (g, p) rather than co-
ordinates and velocities (g, ¢) to parameterise the system. The space of momenta and coordinates
is known as the phase space, so the Hamiltonian describes the evolution in phase space. Although
the two formulations are mathematically and physically equivalent, the Hamiltonian formulation pro-
vides new insight especially when moving to quantum mechanics which is usually described in the
Hamiltonian formulation.

To move from velocities to momenta, one has to invert Eq. (3.2.T1) to find the velocities in terms
of coordinates and momenta,

¢ = Gi(q,p)- 4.1.1)

Having done this, we define the Hamiltonian function H by Legendre transformation

N
H(q,p) = _pidi(a,p) — L (¢, d(a,p)) - (4.12)
=1

Note that H is a function of coordinates ¢; and momenta p;, whereas the Lagrangian L is a function
of coordinates ¢; and velocities ¢;. This is analogous to transformations between different thermody-
namic potentials in statistical physics. We will see that we can obtain the equations of motion of the
system from the Hamiltonian, and therefore it determines the dynamics of the system.

As a simple example, consider a particle in a one-dimensional potential V' (z). The Lagrangian is

L—imi* —V(z). (4.1.3)

In this case, the generalised momentum p is just the usual momentum

= 5 = mi, (4.1.4)

p

'Kibble & Berkshire, chapter 12
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which we can easily invert to find & = p/m. Therefore the Hamiltonian is

¥ p?
H(xz,p)=pt — L(x, T —— —+V(z — + V(x). 4.1.5
(0,0) = pi = L) = 2 = P V(@) = 2 4 V() @15)
This Hamiltonian is, of course, familiar from quantum mechanics.
In order to see how the equations of motion arise from the Hamiltonian, let us calculate its deriva-
tives with respect to momenta and coordinates. Using Eqs. (4.1.2) and (3.2.11)), we find

8‘]1 OL a% p
— =q; + =(q; (4.1.6)
qj Z Z a% ap]

and similarly for the derivative with respect to the coordinate g,

Y s 8L8qi_ oL _ _doL _ . @i
i 1.

aqj 04 aqj 04, 0q;  0q;  dtog

where we used the Euler-Lagrange equation ( in the last step. These results are known as Hamil-
ton’s equations,

. oH
qi = i s

) oOH

pi = — oq’ (4.1.8)

Together, they determine the evolution of coordinates and momenta, and they are therefore the equa-
tions of motion in the Hamiltonian formulation.
‘We can also calculate the time derivative of the Hamiltonian,

dH 8H

- o T Qz + Z
oH OHOH O0HOH OH
oH Z < ~ ) _9H (4.1.9)

ot dq; Op;  Op; Og;

ot~

In particular this means that if the Hamiltonian has no explicit time dependence (i.e. 0H/dt = 0),
then the Hamiltonian is conserved.

To understand better the physical meaning of the Hamiltonian, let us assume that the system is
natural (see Section [3.5.1)), so that the kinetic energy can be written as

1 ..
T=3 Z aijdid;- (4.1.10)
ij

The Lagrangian is L = T' — V, and therefore the momenta are

; 4.1.11
Di = a% Z aljg] ( )

Using this, we can write the Hamiltonian as

H = ZPiQi—L = Zaijq'i(ij Zazngqﬁ-V Zamqlqﬂ—V( )=T+V. (4.1.12)
i ij
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Figure 4.1: Phase space trajectories of the harmonic oscillator.
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Figure 4.2: Phase space trajectories of a non-linear pendulum.

This demonstrates that the Hamiltonian is nothing but the total energy of the system, and which also
explains why it is conserved.
As a simple example, let us consider a particle in a harmonic potential. The Hamiltonian is

2
p L, 5
H=—+ —kx*. 4.1.1
om T2k 113
Hamilton’s equations are
. OH _p
X = —_— = —
ap m’
OH
p = —— = —ka. (4.1.14)
ox

The evolution of the system can be desribed by a trajectory in phase space (x, p). In the harmonic
case, the solutions are ellipses (see Fig. 4.1)). Note that because Hamilton’s equations are first-order,
the phase space trajectories cannot cross, but they can have fixed points at which the derivatives vanish.
One can often deduce the qualitative properties of the solutions by simply finding the fixed points and
considering the behaviour near them. In the Harmonic case, there is one fixed point at x = p = 0.
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A less trivial example is a non-linear simple pendulum. The Lagrangian is

1 .
L= imR202 + mgR cos . 4.1.15)
The generalised momentum is
oL 24
= — =mR*0, 4.1.16)
Do Y,
from which we find o
) 4.1.17
R ( )
Therefore the Hamiltonian is
2 2 2
Y _ Py 1 P _1 g
H=py0 — L = R ampE mgRcosf = SR mgR cos 6. (4.1.18)
Hamilton’s equations are
. OH H
e — —mgRsin0. (4.1.19)

ope  mr2 T o0

These equations have fixed points at pg = 0 and § = nm where n is an arbitrary integer. Even integers
correspond to the minimum-energy state in which the pendulum is pointing down, and the odd integers
are unstable states in which the pendulum points exactly up. By considering the qualitative motion
we can draw a phase space diagram of the trajectories (Fig. [4.2)) without having to actually solve the
equations.

4.2 Poisson Brackets

Suppose now that we want to study the behaviour of some other quantity which depends on p and ¢
such that its value changes as p and ¢ change under control of the Hamiltonian. Let F'(g, p, t) be such
a quantity. The fotal time derivative of F'is

AF_ OF N (OF, . OF,
. ot 6qiq’ 8pl'pl

=1

oF L /9FOH OF 9H
oo ; <8qz’ opi  Opi 3%) 4.2.1)
oF
= o + {F, H}
where the quantity
N
OF0H OF 0H
= Z (aqz Opi - Opi 6qi) (4.2.2)

=1
is known as a Poisson bracket. Compare this with the equation for an operator in quantum mechanics
(in the Heisenberg picture)
dr'  or n 1 [
dt ot in
where [F', H] = FH — HF is the commutator of F and H.

F H], (4.2.3)

44



Advanced Classical Physics, Autumn 2013 Hamiltonian Mechanics

Let us note some basic properties of Poisson brackets. They are antisymmetric, {F, H} =
—{H, F}. If F has no explicit time—dependence, %—f = 0, and the Poisson bracket { ', H} is zero,
then F' is independent of time; F' represents a conserved quantity. The Poisson brackets for coordi-
nates and momenta are simply

{ai,pj} = 6 {giq;} =0 {pi,p;} =0, (4.2.4)

which resemble the canonical commutation relations in quantum mechanics. We can also write Hamil-
ton’s equations in terms of Poisson brackets as

pi = {pi, H} 4 ={a, H} . (4.2.5)

4.3 Symmetries and Conservation Laws

We have already noted in Sec. a relationship between symmetry and conservation laws. If the
Lagrangian does not depend on coordinate g;, then the corresponding momentum p; is conserved. In
terms of the Hamiltonian, we have the corresponding result that if H does not depend on ¢;, then

dq; B

Di = 0, (4.3.1)
S0 p; is conserved.

So far, this result is only useful if we have chosen the coordinate system to reflect the symmetry.
For example, if we have a two-dimensional problem with rotation symmetry, and we express it in
polar coordinates (7, §), the Hamiltonian does not depend on the polar angle ¢, and we find that the
corresponding momentum is conserved.

However, if we had chosen to use Cartesian coordinates (x, y), we could not use the above result.
In this case, the Hamiltonian would be

ba¥ly |y (\/W) : 43.2)

In order to treat a situation like this, we can consider an infinitesimal rotation. When we rotate the
system by an infinitesimal angle &6, the coordinates change as

x T+ 0w ow\  [—yob
<y> — (y-i— 5y) ,  Where <6y> = < 250 > , 4.3.3)

and correspondingly the momenta change as

( x> — <px + 5p$> , where (5%) = <_py69) . (4.3.4)
Dy Dy + 5py 5py D00

If we find that the Hamiltonian does not change under such a rotation, we say that the Hamiltonian is
invariant.

More generally, consider a transformation generated by some function G(g, p) under which the
coordinates and momenta change as

oG oG

i =2 ON, Opi= o 0N, 43,
dq 8pi6)\ op aqi(”\ 4.3.5)
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where d ) is an infinitesimal parameter. For the above rotation, the generator is

i.e., the z component of the angular momentum.
Under this transformation, the Hamiltonian changes as

dH OH dq;  OH Op;

ax Z <(9qi ax " ap; ax)
_ 5o (206 _om oG
B 9q; Opi  Op; O

) ={H,G}. 4.3.7)
i
This means that the Hamiltonian is invariant under the transformation if { H, G} = 0. But if this is
the case, then G is conserved because then

dG

— ={G,H} =0. 4.3.8

= {G.H} @438)
Therefore, we have found a more general form of Noether’s theorem: If the Hamiltonian is invariant
under a continuous transformation, then the generator G of the transformation is a conserved charge.

Familiar examples of this are rotations, for which the conserved charge is the angular momentum
L as we saw above and translations, for which the conserved charge is momentum p. To see the latter,
consider G = p,. Then we have
oG oG

= ——SA=0\ Opy=——0A=0, (4.3.9)
Opz

ox o

so this is, indeed, the generator of translations.
Conservation of energy (or, equivalently, the Hamiltonian ') can also be understood in this way.
Choosing G = H as the generator, the coordinates and momenta transform as

dgi = 6H5>\ = Gio\,
Opi
op; = _OH g Did. (4.3.10)
dq;

This means just time translation ¢ — ¢ + §\, so energy conservation is a direct consequence of time
translation invariance.

These are deep results because they mean that the conservation of angular momentum, momentum
and energy, which we derived earlier using the equations of motion, and actually very general results
and are valid whenever the Hamiltonian has the corresponding symmetries, irrespective of it precise
form.

4.4 Canonical Transformations

In addition to the coordinate transformations considered in the previous section, the Hamiltonian
formulation allows even more freedom in how to parameterise the system. To see this, note that the
time evolution of a function F'(q, p; t) depends only on the Poisson bracket (4.2.2)

dF _ 9F

= T {F, H}. (4.4.1)
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Therefore, if one finds another set of coordinates () and momenta P that gives the same Poisson
brackets, i.e.,

{f7 g}Q,P = {f7 g}q,p (4.4.2)

for every pair of functions f and g, then they will be equally valid variables to parameterise the system.
A transformation

qg — Qg,p),
p — P(pq), (4.4.3)

that takes the original coordinates ¢ and momenta p to the new ones satisfying Eq. (¢.4.2) is known
a canonical transformation. In fact, it turns out that it is enough to check that the Poisson brackets
(@.2.4) for coordinates and momenta are unchanged under the transformation, i.e.,

{Qi, Qj}%p ={P, Pj}q,p =0, {Qi Pj}qvp = 0i5. (4.4.4)

Any set of variables that satisfy these conditions are called canonical conjugates.
As an example, consider the Hamiltonian

p* 1
A= 1 L yope, (445)

2m 2
where c is a constant. The last term, which is linear in p, makes this Hamiltonian unusual, but we can
use a canonical transformation to write it in a more standard form. To see how to do that, let us first

rearrange the terms to write the Hamiltonian as

2
1
g Pprema)” ~(k — m)z>. (4.4.6)
2m 2
This suggests a transformation
P=p+cmz, Q== 4.4.7)

It is easy to check that they satisfy the conditions (4.4.4),

0QOP 0Q 0P
QY ={P, P} =0, Pt=——"—-—-—"——=1x1-0=1. 448
{QQF={PPy =0, {QP}=73 5 ~ 555 4438)
Therefore () and P and canonical conjugates, and (4.4.7)) is a canonical transformation. In terms of )
and P, the Hamiltonian is simply
i (4.4.9)
=—+-(k—cm 4.
2m 2 ’
which is just a standard harmonic oscillator. This illustrates how one can sometimes use canonical
transformations to turn the Hamiltonian into a familiar form, for which the solution is already known.
For example, one can always remove a linear term in p by the transformation

Q=q, P=p+ f(q). (4.4.10)

It is important to understand that canonical transformations generally mix coordinates and mo-
menta, and therefore the distinction between them essentially disappears in the Hamiltonian formula-
tion. Because of this, it is interesting to see what a canonical transformation means in the Lagrangian
formulation, which uses only coordinates to describe the system. In general, the transformation
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changes the Lagrangian, so we denote the new Lagrangian by L’. The Hamiltonian is unchanged,
so we have .
H=pj—L=PQ-L, (4.4.11)

from which we find .
L' = PQ — pg+ L. 4.4.12)

Considering, for example, the transformation (4.4.10), this is
L'=L+ f(q)q. (4.4.13)
The extra term is just the total time derivative of the integral F'(¢) = [ f(¢')d¢/,

dF

L'=L+—. 4.4.14
+ 7 ( )

Such a total derivative changes the action by a constant, and therefore does not affect the dynamics.
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Chapter 5

Electromagnetic Potentials

5.1 Vector Potential

The dynamics of the electromagnetic field is described by Maxwell’s equations,

V-E = ﬁ, (Gauss’s law)
€0
B
VxE = —aa—t, (Faraday’s law)
V-B = 0, (magnetic Gauss’slaw)
OE
VxB = ppJ+ ,uoega. (Ampere’s law) (5.1.1)

You have learned in Electricity&Magnetism that in electrostatics, the electric field can be described
by the electric potential ¢ as

E=-Vo¢. (5.1.2)
Written in terms of the potential, Gauss’s law V - E = p/¢y becomes the Poisson’s equation
v =L (5.1.3)
€0

In a medium with €, # 1 these may be modified slightly but we shall stick to the simpler forms for
this discussion.
On the other hand, Eq. (5.1.2) is clearly not sufficient in time-dependent problems, which can be

seen by considering Faraday’s law,

0B
E=—. .14
V x 5 (5.1.4)

Using Eq. (5.1.2), we can write the curl of the electric field as
VXxE= -V xVé, (5.1.5)

but this is vanishes because the curl of a gradient is identically zero. Therefore Egs. (5.1.2) and (5.1.5])
are incompatible.

To describe time-dependent situations, we introduce a vector potential A, which is related to the
electric and magnetic fields by

B = VxA,
OA

E = -~ _ V¢ 1.
5 Vo (5.1.6)
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Let us see how Maxwell’s equations (5.1.1)) appear in terms of ¢ and A. First, magnetic Gauss’s
law is trivally satisfied
V-B=V.(VxA)=0, (5.1.7)

because the divergence of a curl is identically zero
Faraday’s law is also automatically satisfied,

O0A 6V>< A 0B
E— _ _ T =, 1.
V x V x ( 5 V¢> 5 Vx Vo= 5 (5.1.8)
Gauss’s law becomes 5V . A
V-E:—¥ Vg =L (5.1.9)
87f 60

This is a non- triVial equation that the potentials A and ¢ have to satisfy. It is essentially Poisson’s
equation (5.1.3]) with an additional term.
Fmally, Ampere s law becomes

OE 0¢p 0?A
VxB =V x(VxA)=pupJ+ poeo— En = pod — ppegV— ot u06078t2 (5.1.10)
Using poep = 1/c2, and rearranging the terms, we obtain
1 0?A 0¢ 9 1 0¢
-5 =—V x(VxA —V— od =V A-V (V- A+ 5 — J. (5.1.11
2 o2 X (VX A) = 5V Hrod =V ( T2y ) Tred GLID

This is basically the equation of motion for the vector potential A.

Eq. has the form of a wave equation with some additional terms, so we can try to look
for plane wave solutions. As an Ansatz, let us consider a plane wave polarised in the = direction and
travelling in the z direction at the speed of light

A = Aoeik(zfct)f(’
6 = 0. (5.1.12)

Substituting this to Eq. (5.1.T1)), we find

1 92A

— = —k’A +Ek*A =0, (5.1.13
C2 8t2 + 07 ( )

2 2
_VQA_V<V.A_13¢> ol LA A

2 ot 2 02 922

so this satisfies Ampere’s law. Using Eq. (5.1.6)), we find the magnetic and electric fields

X ¥y ozl gy
B = VxA=\5 & o:|=¥=ikAe"y,
A, 0 0 :
oA
E = ——— —V¢=ikcAge*Dx. (5.1.14)

ot

This is simply an electromagnetic wave travelling in the z direction.

'Tn fact, it is still possible to write down a vector potential that describes magnetic charge (see Problem Sheet 7 or
Contemporary Physics 53 (2012) 195).
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5.2 Gauge Invariance

The scalar and vector potential are not physically observable fields, only the electric and magnetic
fields are. You know already that adding a constant to the scalar potential ¢ doesn’t change the
resulting electric field. More generally, we can ask whether we have more freedom to modify ¢ and
A without changing the electric and magnetic fields.
To do this, consider adding functions of space and time to A and ¢,
A - A+ axt),
o — o+ f(x,1). (5.2.1)

This would change the electric and magnetic fields by

B - VX(A+a)=VXxA+Vxa=B+Vxa,

O(A + o) da

E - -V =E-—-V/. 522

- 5 (p+ 1) 5 f (522
Therefore, B and E remain unchanged if

Vxa=0, and %? LVf=0. (5.2.3)

The Helmholtz theorem states that any vector field whose curl vanishes can be written as a gradient
of a scalar, so we can write

a=V\ (5.2.4)
The second condition in Eq. (5.2.3)) then becomes
oo o\
_ O GOA 525
Vi ot v ot ( )

This means that the physical fields B and E are invariant under gauge transformations

A —- A+V)
6 o=
where A(x,t) is an arbitrary scalar function. This symmetry, which is known as gauge invariance
plays a very important role in particle physics, where an analogous gauge invariance determines the
properties of elementary particle interactions almost completely.

Note that while E and B are invariant under gauge transformations, Egs. (5.1.9) and (5.1.11) are
not. This means that we can use a gauge transformation to make those equations simpler and easier
to solve. This is known as fixing the gauge. For example, the divergence V - A is not gauge invariant
but transforms as

(5.2.6)

V-A- V- (A+VN)=V-A+V2i\ (5.2.7)

Because we can always find a solution to V2)\ = g for an arbitrary function g(x,t), we can use a
gauge transformation to fix V - A to any value we like.

One popular way to fix the gauge is the Coulomb gauge, in which V - A = 0. In this gauge the
non-trivial Maxwell equations (5.1.9) and (5.1.T1)) become

29 = _P
Vo = L,
1 9%A 9 1 _0¢
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The main benefit of this gauge is that the equations are simpler: The first equation is simply the
familiar Poisson equation, and the second equation is a wave equation with a source term. However,
the drawback is that the Poisson equation appears to violate causality because a change is the charge
distribution affects the scalar potential immediately at all distances. This is not a serious problem
because ¢ is not observable, and the observable fields E and B still behave causally.

From the point of view of relativity, a better choice is the Lorenz gaug defined by

1 0¢
V-A+—--—=0. 529
+ c? Ot ( )
In this gauge, the equations of motion are
1 9% 2 P
i A v -
c2 ot? ¢ €’
1 02A 9
——— VA = J. 5.2.10
C2 8132 \Y Ho ( )

Now both ¢ and A satisfy wave equations, and therefore changes in the charge distribution propagate
at the speed of light, satisfying causality.

A third gauge choice which is often useful is the Wey! gauge, which is also known as the temporal
gauge. It is defined as ¢ = 0, which means that the only degree of freedom is A. In this gauge, the
Maxwell equations become

9 p
1 0%A 9

5.3 Particle in an electromagnetic Field

Let us see how to incorporate the electromagnetic field into the Lagrangian and Hamiltonian methods.
For the static electric field, this is straightforward, because one can desribe it by a standard potential
term

V(r) = q¢(r). (5.3.1)
The Lagrangian would therefore be

L=T-V= %mi‘Q — qo(r). (5.3.2)

However, this is clearly not invariant under gauge transformations (5.2.6). A gauge transformation
A(t, r) would change the Lagrangian into

1 oA O
L— L= -mi’— —=L+q-. 53.3
5" = qd(r) +ao +ag, (53.3)
Adding such an extra term to the Lagrangian will change the physics, unless the extra term is a total
time derivative, in which case it would only change the action by a constant. Our term q% is not a

total time derivative, but could we modify the Lagrangian in such a way that it turns into

d\ O\ drdr  dydx dzON  ON
@ _0A e OA  GOA | GZON 0N L L a7 3.4
Gt ot dtor Tdtoy dtar ot TV (5-34)

“Even though the Lorenz gauge is invariant under Lorentz transformations, they are spelled differently. The Lorenz
gauge (with no “t”) is named after Ludvig Lorenz, whereas Lorentz transformations (with “t”) are named after Hendrik
Lorentz.
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Comparing with the form of the gauge transformation (5.2.6), we note that the vector potential changes
by precisely VA, which suggests the Lagrangian

1
L= §mi'2 +qi- A — qo. (5.3.5)

Indeed, this Lagrangian changes under the gauge transformation as

A dA
— =L+ qg—. 5.3.6
97 tag (5.3.6)
Now the Lagrangian (5.3.3) changes only by a total derivative, which does not affect the physics.

We can now derive the Euler-Lagrangian equations from our Lagrangian (5.3.5). We do this for
the « coordinate, but it is trivial to generalise the result to the y and z coordinates. The Euler-Lagrange
equation is

d oL 0L d 0A 0¢

22— Zmd A — g - —— s
ioe oz T @ \METed) mat G tag,
— i+ 0A, n aban . L0A, +28Ax
- Tor T\ "o "Voy T 70z
L0A, . 0A, 0A, 0¢
1 (x Oox Ty Ox T2 ox +q%

. ['<8Ax 8Ay> ,<6Ax 8A2> 0o 8Ax]
= mr+gql|y - +z - +q7/—+

1
L_>L’:imr2+qi~'A+q1’“-V>\—Q¢(r)+

oy Oz 0z Ox Ox ot
— mi—qyB. — iB,) — qE, = 0. (5.3.7)

Combining this with the y and z components and writing in the vector notation we have
mi=q(E+vxB), (5.3.8)

which is just the usual Lorentz force equation. Note that we were able to derive this by assuming only
the static Coulomb force and gauge invariance. This gives a flavour of how gauge invariance can play
a key role in determining the properties of elementary particle interactions.

From the Lagrangian we can derive the canonical momentum

oL )
Pe = o = M + qAy, (5.3.9)
o0&
or in vector form p = mr + ¢A, and the Hamiltonian
—gA)?
Hepi_— P08 . (5.3.10)
2m

Eqgs. (5.3.3) and (5.3.10) show that one has to formulate electrodynamics in terms of the scalar and
vector potentials in order to use Lagrangian or Hamiltonian mechanics. In contrast, the Newtonian
formulation only deals with the physical electric and magnetic fields.

5.4 Retarded Potentials
Let us now adopt the Lorenz gauge (5.2.9)), and ask what the potentials ¢» and A in the presence of a

time-dependent charge distribution. We focus on the scalar potential, but because the equation of the
vector potential has the same form, the results can be translated directly to it.
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Instead of actually solving Egs. (5.2.10)), I will present the solution and then show that it satisfies
Egs. (5.2.10). Let us start from the simplest case of a static point charge ¢ at r’, for which the scalar

potential is
q

=— 54.1
o(r) dmeg|r — /| ( )
It is easy to generalise this to a continuous but static charge distribution p(r),
1 p(r')
= a3y’ . 542
o) = o [ @ L (5.42)

Because electromagnetic waves travel at the speed of light ¢, one can guess that if the charge
density changes with time, the potential at point r and time ¢ will depend on the charge at point r’ at
the earlier time known as the retarded time

1
t'=t——|r—1]. (5.4.3)
c
This suggests that the potential should be given by

[ ettt e xle), 54

v — /|

¢(r, t)

 dre

This is known as the retarded potential.

To check that Eq. (5.4.4) is valid, we have to show that it satisfies Eq. (5.2.10). To simplify the
notation we write R = r — r’ and R = |r — 1’|, so that the retarded time is ¢’ = t — R/c. Now, we
have the Laplacian with respect to the coordinate r,

1 p 1 1 1 1
2 3 12 3. 2 2
_ J P B |2 9 (v 2. (545
V< 47T60/ rVR 471'60/ r[RV p+2(Vp) (VR)—l—pV R] (5.4.5)
The charge density p(¢', ') depends on r only through the retarded time ¢’ given by Eq. (5.4.3), so
1
Vp =V = ——pVR. (5.4.6)
Taking the divergence of this, we obtain
9 1 . R 1. 1.,
Vip=—=[Vp-VR+V’R| = 5iVR-VR—~pV’R. (5.4.7)

Using the identities from vector calculus,

R 1 R
VR=—, V—=—— 5.4.8
7 Vp= g (5.4.8)
and 5 1
2 2
R=— — = —47wé(R 5.49
VR= 5. Vo= —dmi(R), (5:49)
we can write these as
v,— 1R (5.4.10)
p_ CpR’ T
and ) o ;
I
Vv2p = — =L 5.4.11
P=5P" T ( )
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and Eq. (5.4.5) as

15 25 2R [ R
2
Ve 47r60/ [23 crR? "R < R3> WS(R)]
p
/ R (5.4.12)

This shows that the retarded potentlal satisfies Eq. (5.2.10).
Because the equation for A has the same form, we can also write down the corresponding solution
for the vector potential A

47‘(‘60

Ar,t) =10 /d3 It e —xllje). (5.4.13)

4 Ir — /|

The solutions (5.4.4]and[5.4.13)) describe electromagnetic waves emitted by a changing charge and
current distribution travelling outwards at the speed of light. Note that they are not the most general
solutions of Eq. (5.2.10). There is another solution, known as the advanced potential, which describes
electromagnetic waves travelling from infinity towards the source. This is, however, not useful for
most practical applications.

As the first example of retarded potentials, consider an infinite straight wire on the z axis. We
switch on a current at time ¢ = 0, so that the current is given by

0 fort <O,
I(t)_{ Iy fort> 0.

Because the current is confined on the z axis, the current density is
J=1(t)o(x)d(y)z. (5.4.14)

There is no electric charge, so p = 0, and therefore ¢ = (. The vector potential is, however,
non-trivial. To simplify the calculation, we calculate it at point r = (z,y,0). Because the setup is
translation invariant in the z direction, the same result applies at all z. Substituing Eq. (5.4.14) into

Eq. (5.4.13)), we find
I / /
Aty = 2 [ el S0
47 lr —r/|
_ HoZ & It —Vr2+42"2/c)
41 \/1"2—|—z/2 '

We now note that the current (5.4.14) vanishes for 2’2 > ¢?t2 — r? and is I, elsewhere, so we have

)

(5.4.15)

Altr) = toloz /\/c2t2r2 1 toloz /\/c2t2r2 o 1
’ Ar J_yemme V2422 2m g V2 + 22
I + 122 2
- M20 P SIS (5.4.16)
T T

From this we can calculate the electric and magnetic fields,

OA _ polo c

E = 22— ,
ot 27’( N TQZ,
. I .
B = VxA=_ ¢ polo_ ct (5.4.17)

27r \/c2t2 — r2¢
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At late times these approach

E — 0
In ~
B Ho 0¢7 (5.4.18)
2mr

which are the familiar results for a time-independent current.

The second example we consider is the Hertzian dipole, which is an infinitesimally small oscillat-
ing electric dipole. The dipole consists of charge +-¢ at a position dr = §zZ and an opposite charge —¢
at —dr. It can be parameterised by the dipole moment p = 2¢§zz. The dipole is oscillating such that
q(t) = qo cos(wt) so that the dipole moment may be written p(t) = pg cos(wt)z, where py = 2qpdz.

The scalar potential ¢ at point r in spherical coordinates can be obtained from Eq. as

1 [gocosw(t—|r—dr|/c) gocosw(t—|r+dr|/c)
|r — or| r + or| '

¢i

= 5.4.19
4meq ( )

Because we are assuming that 6z = |dr| is small, we can simplify this by Taylor expanding it to linear
order in dz. First, because dz < r, we expand

rt6r] = /(r+or)?=r2+2r 0r+06r2 = /r2+2rézcosf + 522

= =r+dzcosb+ 0(622), (5.4.20)
and | 1 bzcosd
Z cos 9
= - g 2=2hY , 421
v +£6r] r ¥ r2 +0(0=7) S )

These give us

Qo {cosw (t— M) — cosw (t — M)

C Cc

¢ =

4req T

co
+dzcosf

sw(t— r—5zc050) —I—COSW(t— r+6zcos€)} (5.422)

c c
r2

The assumption 6z < ¢/w allows us to Taylor expand the cosines. In the first term, the constant
term in the Taylor expansion cancels, and therefore we only obtain a linear term in dz, whereas the
second term already contains a factor §z and therefore we only keep the constant term in the Taylor
expansion,

[ 0 ;
5 = q | 2w lsinw (t - 1) +5260892C05w(t7£)
4meg r r2
Pocost [ L st —r/e) — L sinw(t —r/e) (5.4.23)
= — cosw(t—r/c) — —sinw(t —r/c) ¢ . 4.
dmeg | r? re

We are only really interested in what happens far away from the dipole, in the region where r > A
or r > c/w. In that case we may ignore the term in 2 in Eq. (5.4.23)) and write

_ pow [cos@
 Adrmege r

) sinw(t —r/c). (5.4.24)

When the dipole oscillates, there is a current

dq

1(t) = <1

= —qow sin wt (5.4.25)
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along the line element between the two charges. The current density is

[ I)o(x)d(y)z if — 0z < 2 <z,
JI(t,r) = { 0 otherwise. (5.4.26)

Using Eq. (5.4.13) we find the vector potential

At.1) poz [ I(t —|r— 2'2|/c) 2002z sinw(t —r/c)
r) = — ~— w
’ 4t J_s, Ir — 22| 4 r
D w(t —
__Hopo sinw(t—r/c), (5.4.27)
47 r

From Egs. (5.4.24)) and (5.4.27)), we can calculate the magnetic and electric fields. In spherical
coordinates, we find

10 10A,\ -
B = VXA = <T8T<T'A9>—T 80>¢
2 .
_ _,u04p0w <sm9> cosw(t — r/c)q,?) (5.4.28)
e r
0A
B =% Ve
2 .
= —’LLOZLW (SH;H> cosw(t —r/c)f, (5.4.29)
™

where we have ignored all terms that fall faster than 1/r and used the fact that Z = cos f — sin 00,
which implies A, = A, cosf and Ay = — A, sin 0.

Eq. shows electromagnetic waves travelling radially away from the dipole. To find the
power radiated by the dipole, we calculate the Poynting vector S which given the energy flow through
unit area per unit time. We find

1
S = —ExB
Ho
140 pow? sin O 2
= c( y— Cosw(t—r/c)> r. (5.4.30)

This is oscillating, but we can average over one cycle of oscillation by noting that (cos? w(t —7/c)) =
1/2,
B popiw? sin?6

S) = 5.4.31
(S 32n2c 1?2 ( )
The total power radiated is given by integrating Eq. (5.4.31)) over the surface of a sphere
2, 4 (2 2, 4
HoPw sin“f o . HoPGw
P)= [ da-(S)= sinfdf dp = ——— 4.32
(P) / a-(S) 327T26/ L. ¢ 127c (5:4.32)

which is independent of r as expected from conservation of energy.
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5.5 Fields of a Moving Charge

Let us now consider a single moving charge, which follows some trajectory r((¢). The charge and
current densities are

p(t,r) = 0P (r —xo(t)),
J(t,r) = qvo(t)5®(r —ro(t)), (5.5.1)
where vy = 1.

To calculate the scalar potential from Eq. (5.4.4), we use a simple trick: We introduce a delta
function that enforces the condition (5.4.3),

1 / / / , /’ /
o) = g [ - 0
= L [avars@—e- vy )
0 —
! / / 1
— 47(360 /dt §(t' =t —|r—ro(t]/c]) T —ro(t)| (55.2)

We now have a delta function whose argument is a non-linear function of the integration variable ¢'.
To deal with it, we use the general result that if function f(x) has a zero at z = x, i.e., f(zg) = 0,
then

d(x — x0)
0 = ——". 553
() = s (553)
In Eq. (5.5.2)), the function is
1
fl)y=t—t+ E\r—ro(t')|. (5.5.4)

Denoting the retarded time by ¢y, so that f(¢,.¢) = 0 or equivalently

|I‘ - rO(tret)| = C(t - tret)a (555)

we therefore have

q / 5 (t/ - tret) q 1
t = dt = . 55.6
o(t.) 4mL/ Pt —ro(0)] ~ dres [P el [F —volher)]. OO

We need to calculate

0 1 (I‘ - rO(tret)) * Vo (tret)
"(tret) = =— [t/ —t+ =|r — 1ot =1- ) 5.5.7
i) = 5 +J-m(®ﬂhﬂ solt) (557)
Denoting
R=r—ro(tret), and viet = vo(tret), (5.5.8)
this is simply
R viet
"tret) = 1 — ———. 5.59
f'(tret) R (5.5.9)
Substituting this to Eq. (5.5.6), we obtain the final result
1
6 (r,t) = —L (5.5.10)

- dreg R — R - et/
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Note that Eqgs. (5.5.5) and (5.5.8) imply that R = c¢(t — tyet). Analogously, one finds the vector
potential

Hoq Vo (tret)
Art)="————7""—. 5.5.11
) = SRR viajc (551D
These forms for the potentials due to a moving charge are known as Liénard—Wiechert potentials.
From the potentials (5.5.10) and (5.5.T1)), we can calculate the electric and magnetic fields. (For
details, see 10.3.2 in Griffiths). The result is

Blr.t) = =% ~Vo= — + 3R X (R xv; 5.5.12

( ) ot 4meq (R-R- Vret/C)3 7r26t 2 ( et) ( )
R xE

Blr,t) = A= 55.13

(x,?) v cR ( )

where R = R — vt R /c is the position where the charge would be at time ¢ if it had continued with
the velocity Vyet, and yper = (1 — 02, /c?)~ /2 is the retarded ~ factor.

This is the general solution, valid right up to v ~ ¢, for an accelerating particle. The first term
in Eq. varies as R~2 and is independent of acceleration, whereas the second term varies as
R~! and depends on acceleration. The first term may be interpreted as a generalised Coulomb field
whereas the second term describes electromagentic waves radiated by the moving charge.

As our first example, let us consider a charge moving at constant velocity v, so that ro(t) = vt.
In that case, Eq. (5.5.12)) simplifies to

1 R’
E(r,t) = 2 - (5.5.14)
dmeg (R — R - vyer/c)” Y
For constant velocity, R' =R - Rv /¢ = r — vt. To find the denominator, we calculate
1 2 , 2 1 ) 2\ 1,
R—-R-v = R—fRR-v+f2(R-v) =({1-=5 )R +7(R-v)
c c c c c
/ v 0?2 / v2
= R2(1—2+2c0820’> :R2<1—2sin20/>, (5.5.15)
c c c

where ¢’ is the angle between R’ and v. This shows that

1 , v,
R—-R-v=R\y/1—-—5sin"0. (5.5.16)
c c

Substituting this to Eq. (5.5.14])), we find the electric field of a charge moving at constant velocity,

q (1_%;)R/

- 3/2
dmeo <1 — Z—z sin? 9’) R'3

(5.5.17)

Note that the electric field points to the present position R’ of the charge, not to the retarded position
R as one might have expected. This makes sense from the point of view of special relativity, because
the field of a moving charge should be just a Lorentz boost of the field of a stationary charge, which
naturally points to the charge itself. We can also note that the field strength is reduced in forward and
backward directions, where sin ' & 0, and enhanced in perpendicular directions where sin 6’ = 1.
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We can also find the magnetic field using Eq. (5.5.13). Noting that R = R’ + v(t — t,t) and
E || R/, we find

RXxE (t—te)vxE vxE
cR cR c2 ( )

Considering the moving charge as a Lorentz boost of a stationary charge, it is interesting that it has a
non-zero magnetic field. This shows that electric and magnetic fields have to transform to each other
under Lorentz boosts.

As another example, consider a charge moving non-relativistically so that v < ¢. We can then
simplify the expressions in and such that R” — Rand R — R -v/c — R. The
electric field becomes

qg 1

E(r,?) = 4eq B3

(R + C%R x (R x \'r)> . (5.5.19)

The first term describes simply the Coulomb field moving with the charge, so if we are interested in
the power radiated by the charge, we can ignore it and only consider the second term, which describes
radiation. The Poynting vector due to the radiation term is

1 5 ?0%sin? 6

rad X (R X Erad) = TE R, (5520)

1
S=—EFE.,xB= N
Mo rad ()CR rad 167‘(’260631’:52

1
—E
pocR
where 0 is the angle between R and the acceleration v. The total power radiated into a sphere of
radius R is

i 2m q2®2
P = / do sina/ dpR?>Sp = ——— (5.5.21)
0 0

© 6mepe3’

where the v here is evaluated at the retarded time.
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Chapter 6

Electrodynamics and Relativity

6.1 Four-Vectors

In the context of special and general relativity particularly, but also in other situations, it is often useful
to consider space and time as two aspects of the same quantity rather than as separate. To this end we
can write the coordinates of an event occurring at position r = (z, y, z) and time ¢ as at the four-vector
position (ct, x,y, z) in space-time, where the time component is written as a length ct, the distance
light travels in time ¢, so that it has the same units as the other components. Often this is rewritten
in the form (2%, 2!, 22, 23), with superscript indices. The reason for this becomes clear soon. These
superscript indices should not be confused with raising « to a power. They are usually denoted by
Greek letters, e.g., z#, where u € {0,1,2,3}. Abusing this notation slightly, we often also denote
the whole four-vector by x* to make it clear that we are referring to a four-vector quantity. If that is
obvious, we can also refer to the four-vector by simply .

Consider now a Lorentz boost in z direction by velocity v. Writing v = 1/4/1 — v2/¢?, the time
and space coordinates transform as

¢ = At —va/c?),

¥ = y(x—ot),

y = v,

Z = =z (6.1.1)

Using the four-vector notation, this can be written as a matrix multiplication

0 v =By 0 0 20
z! By v 00 !
21 7 o 0 1 0f|22]" 6.1.2)
a3 0 0 0 1 a3

where 3 = v/c. Denoting the transformation matrix by A, we can write the transformation in terms
of the four-vector components as

2= A (6.1.3)

where A, denotes the elements of the matrix A. As usual, the first index in A#, refers to the row
and the second index to the column. The reason why we write the row index as superscript and the
column index as subscript will become clear soon.
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A Lorentz transformation can be defined as one that leaves all space-time intervals
2= —r? = (29)? — (1) — (2%)? — (23)? (6.1.4)

unchanged. To express this in the four-vector notation, we define a 4 x 4 matrix known as the metric
tensor,

1 0 0 0
0 -1 0 0
0 0 -1 O
0 0 0 -1

) (6.1.5)

oa|
Il

whose components we denote by g,,,,. Note that the metric is symmetric, g,,, = g,.,. More specifi-
cally, this is known as the Minkowski metric to distinguish it from more general metrics that are used
in general relativity, and to emphasize that it is often also denoted by 7,,,,.

Using the metric tensor, the space-time interval can be written as

= "atgua’. (6.1.6)
L,V

Note that in Eqgs. (6.1.3) and (6.1.6) each Lorentz index appears once as a superscript and once as
a subscript. From now on we will follow the Einstein convention, in which are Lorentz index that
appears once as a superscript and once as a subscript is summed over. We will see later that this is
almost always what we want, and in the exceptional cases when we do not want to sum over the index,
we state that explicitly.

Using the Einstein convention, the transformation law becomes

2t = AP Y, (6.1.7)
and the expression for the space-time interval is
0 =atg,x. (6.1.8)

Tensors (i.e. linear relations between a number of four-vectors) can be represented conveniently in
this notation. For example, if four-vector x* is related to four-vectors y*, z* and w* through a linear
relation (i.e., a rank 4 tensor), this can be expressed as

xt = MV, ,5y" 2Pwe. (6.1.9)

We can see that in this notation, a rank NV tensor appears simply as an object with N Lorentz indices.
In contrast, the matrix notation we used to represent the inertia tensor is only suitable for rank 2 tensor.
The component notation is also more flexible than the matrix notation. A product of two matrices

(or rank 2 tensors) A and B, with components A*, and B*,, can be written as

(A-B), = A",B,,. (6.1.10)

In matrix multiplication, the order of the factors matters, A-B # B- A, but in the component notation
the symbols represent matrix elements, which are real or complex numbers. Therefore we can change
the order of the factors freely, i.e., A*,B", = B”,A*,. The labelling of the indices keeps track of
how the tensors are multiplied. To actually compute numerical values, it it often convenient to switch
to the matrix notation, and it is then important to write the matrices in the right order. Note also that

62



Advanced Classical Physics, Autumn 2013 Electrodynamics and Relativity

you can choose freely which Greek letter you use for each summation index, but the same letter can
only be used ones in one expression (i.e. once as a superscript and once as a subscript).
Under this transformation, the space-time interval transforms as

2 = g’ — x'“ngw = AN ,2P g N 6x” = aP A g N 527 = 2 AP Lg,e A7y x”, (6.1.11)

where, in the last step, we used the freedom to change the labelling of the summation indices and
swapped ;1 « p and v < o. In order for the transformation to leave the space-time interval /2
invariant, Eq. (6.1.11) has to be equal to z*g,,,x", and this requires

ApugpoAaV = 9uv- (6.1.12)

We can therefore use Eq. (6.1.12) as the definition of a Lorentz transformation.
Using the metric tensor, we can also define a scalar product of two four-vectors x and y as

-y =a'guy’ = 20y — 2yl — 22y? — 233, (6.1.13)
This is also invariant under Lorentz transformations,
= atguy” = gy’ = M al g oy” = 2P AP Lgpe N yY = 2t gy, (6.1.14)
To simplify the notation further, we define a covariant vector x,, by
Ty = g’ = (29, —xt, —2?, —2?), (6.1.15)

and indicate it by using a subscript index. We say that we use the metric to lower the index. The
original position four-vector z* with a superscript index is called a contravariant vector. For example,
the scalar product (6.1.13) is then simply

x -y =aly,. (6.1.16)

To raise the index, i.e., turn a covariant vector back to a contravariant one, we need the inverse g—1
of the metric tensor, so that

ot = (g7 H . (6.1.17)

(Note that we use superscript indices to be consistent with the Einstein convention.) Eq. (6.1.17) is
equivalent to saying that it is the inverse matrix of g,,,, defined in the usual way by

(97" gup = 0k, (6.1.18)
where
1000
0100
°o—
o5 00 1 0 (6.1.19)
000 1

is the 4 X 4 unit matrix.
For the Minkowski metric it is easy to find the inverse, and it turns out to be the same
matrix as the metric itself,

1 0 0 0
0 -1 0 0

—1\pv __ _

G =10 o -1 o |79 (6.1.20)
00 0 -1
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but this is not the case in general relativity. In any case, using the definition of the inverse metric
(6.1.18), we can see that it satisfies

gupgua(g_l)pa = Guv- (6.1.21)

This means that when we lower the indices of the inverse metric (¢~1)* in the same way as in
Eq. we obtain the original metric g,,,,. We can therefore think of the inverse metric (g~ 1Hm
as simply the contravariant counterpart of the covariant metric g,,,,. In particular, this means that there
is no need to indicate the inverse metric by “—1” and we can simply write

(g~ =g (6.1.22)
without any risk of confusion. Then Eq. becomes

9" Gup = 05, (6.1.23)
and the expression for raising the index simplifies to

= g™, (6.1.24)

We can treat all Lorentz indices in this way, using g,,, to lower a contravariant superscript index
to a covariant subscript, and g"¥ to raise a covariant subscript index to a contravariant superscript. In
particular, if we multiply both sides of Eq. (6.1.12) by ¢**, we find

g)\MAPMngAUV = g/\uguy = (51),\ (6.1.25)

Comparing this with the definition of the inverse Lorentz transformation A—1, which takes the system
back from the boosted to the original frame,
(A~HA A%, =62, (6.1.26)

(e

we find that
(A2, = g AP g0 = Ao (6.1.27)

We can also derive the transformation law for covariant vectors,
a;’u = g,wa:'V = g\’ 2’ = gWA”pgp)‘xA = A,L)‘a:,\. (6.1.28)

Comparing with Eq. we see that the transformation matrix for the covariant vectors is the
inverse of the contravariant transformation matrix.

Besides the position four-vector x*, there are other quantities that transform in the same way
under Lorentz transformations and can therefore be naturally written as four-vectors. These include

o The four-velocity u*, defined as
_dzt

ut = —,

dr
where 7 is the proper time is the time measured by the observer moving along the trajector
defined by z*. It is defined as c?dr? = c2dt? — dx?® — dy® — dz?, or dt = ~ydr. It follows that

(6.1.29)

ut' = (ye, Yoz, YUy, YU2). (6.1.30)
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e Four-momentum
pt =mut = (E/c,pz, py,p2)- (6.1.31)

e Four-current density
J* = nqut = (ynqe, ynqug, ynquy, ynquz) = (¢, jo, jy; j=)- (6.1.32)

These all transform as contravariant vectors, i.e., u’* = A*,u" etc., although of course we can always
lower the index with the metric to turn them into the covariant form, u, = g,,u” , when it is more
convenient.

For an example of a four-vector that is more natural to think of as a covariant vector, consider a
scalar function f(x) of spacetime, and its derivative with respect to the contravariant position vector
x#. Using the chain rule of derivatives, and the inverse Lorentz transformation ¥ = (A~1)” ua:’ "=
AV, we find

Of(@) _~ 02" 0f(x) _, ,0f(x) 6133

Oz — Ja'!' Q¥ booxvy o
Comparing with Eq. (6.1.28), we see that a derivative with respect to a contravariant vector transforms
as a covariant vector. Therefore we use the notation

0
b= (6.1.34)
to make this explicit. In this notation, Eq. (6.1.33)) becomes
a;;f = Auuauf' (6.1.35)

Similarly, a derivative with respect to a covariant vector transforms as a contravariant vector, and
therefore we write 9
oM =

= B,

Remember that a tensor is a linear relationship between two or more vectors. In special relativity
we expect that the same linear relationship remains valid in all reference frames, in which case it
is called a Lorentz tensor. Consider, for example, the rank 4 tensor Mﬁpa in Eq. . Lorentz
boosting the right-hand-side, we find

(6.1.36)

'H = A“;@’\ = A“,\M’\,,pgy”zpw” = A“,\M)‘l,pUAa”y’aAﬁpzlﬁAfy”w”, (6.1.37)
where in the last step we used the inverse Lorentz transformation. We want to be able to write this as
2" = M™ 5y (6.1.38)

which means that the boosted tensor has to be
M" 5y = MM AP AT M (6.1.39)

We can see that each superscript index transforms with the contravariant transformation matrix, and
each subscript index with the covariant transformation matrix, just like in four-vectors.

Whenever an index is summed over (contracted) according to the Einstein convention, the sum
is Lorentz invariant, so summed indices can be ignored when doing Lorentz transformations. For
example,

M 5y = AN AP AT My = 05PN M e = AP AT MY, 0 (6.1.40)

where we used the property (6.1.25)). This shows why the Einstein convention is so useful in special
relativity: Because the laws of nature are supposed to be the same in all inertial frames, pairs of indices
should only appear in this Lorentz invariant form.
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6.2 Relativistic Electrodynamics

Historically, electrodynamics played a key role in the development of the theory of relativity, and
electrodynamics appears much more elegent in a fully relativistic formulation. However, it is not
entirely trivial to write electric and magnetic fields in a four-vector form. For example, we saw in
Section [5.5] that electric and magnetic fields have to somehow transform to each other under Lorentz
transformations, so they cannot be two separate four-vectors.

To derive the relativistic formulation, we start from the expression for the Lorentz force,

dp _

o =F=qE+vxB) (6.2.1)

It follows directly that the derivative with respect to the proper time is
dp dp u?
— =7y—=¢q| —E B 6.2.2
ar ~ ar 14 ( c tux ’ ( )

where u = ~yv is the spatial part of the four-velocity u*.
The time derivative of the energy of the particle is

from which we obtain the derivative with respect to the proper time as

dE dE

— =~—=gE - u. 6.2.4

dar ~ T ~ Y (024
We can now combine Egs. (6.2.2) and (6.2.4) into the proper time derivative of the four-momentum
P = (E/e,p),

E/c 0 Eg/c Ey/c E./c\ [u°

dptd | ps | _ E./c 0 B. —By ul

dar dr | p | "YU Eye -B. 0 B, || (62.5)
Pz E.)Jc B, —-By 0 u3

The matrix appearing in this expression is called the Faraday tensor or the field-strength tensor and
denoted by F'*,, so we can write more compactly the relativistic Lorentz force equation as

? = qF'MV'U/V. (626)

The Faraday tensor is often written with two contravariant indices as

0 —E;/c —Ey/c —E./c

FE /c 0 -B B

[ 2 n] RN z Z Y

F = Fg E,/c B, 0 -B, |- 62.7)
Ez/c —By B 0

The Lorentz force equation (6.2.6)) then becomes

dp*
;;T _ G FPy,, (6.2.8)
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Note that this tensor is antisymmetric, F*#* = —FH,
In order for the right-hand-side of Eq. (6.2.6) to be Lorentz contravariant, F'** has to transform as
a contravariant rank 2 Lorentz tensor,

F'™ = AF AV FPO (6.2.9)

This tells us how the electric and magnetic fields must transform. For example, considering a boost in
z direction,

v 00 =By
0 1.0 O
lj/ p—
AF, 0 01 o0 ) (6.2.10)
By 0 0 ~
we find that the electric and magnetic fields transform as
12; = j/(l?x<— Ulgy)a
E; = v(Ey+vBy), (6.2.11)
13; = E.,
B; = v (BI + vEy/c2) ,
B, = v (By—vE;/c¢?), (6.2.12)
Bl B, .
More generally, we can write
1= B
= By, (6.2.13)
' = v(EL+vxB),
T 2\ _
' = 7(BL-vxE/c?) =v(BL—poev xE),

where || refers to the component parallel to the boost velocity, and L to the perpendicular components.
If B =0, then
v x E/
c2
in agreement with Eq. (5.5.18) (note the opposite sign of v).

B = , (6.2.14)

6.3 Maxwell’s Equations

Now that we have combined the electric and magnetic fields into one Lorentz tensor F'*¥, we want to
write Maxwell’s equations (5.1.1)) in terms of it. We start by noting that, according to Eq. (6.2.7), the
electric and magnetic fields are given by

E = (cFY,c¢F?, cF30),

B = (F F1B F?). (6.3.1)
‘We now write Gauss’s law as
0E, O0E, OFE OF™  9r20  9F30
ve-£L - 2w T P, + T+ - L
€0 ox oy 0z €0 ox oy 0z ceo
= ¢ (81F10 + O F?0 4 93730 — ") =c <8#F“0 - ”) : (6.3.2)
CceQ CeQ
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Therefore we have

8, F" = £ — ep. (6.3.3)
CceQ
To deal with Ampere’s law,
OE
V xB-— ,U()J - /L()EOE =0 (6.3.4)
we write the = component
OB, 0B, _ OE, OF?  oF13 S 7
_ 2y — unen—2 = = _
= OF" + 0,F? + 05 F3 — puoj,
= 0. F" — pgj. =0, (6.3.5)
so we have
0uFM = poja, (6.3.6)

and similarly for the other components. We can now write Egs. (6.3.3) and (6.3.6) as one equation in
terms of the four-current j* = (cp, j),

O FM = poj?. (6.3.7)

The magnetic Gauss’s law reads

OB, 0B, 0B, O0F® 0OF3 §F%

B = _ P Fl13 2l

v Oz * oy * 0z Oz * oy * 0z OE™ + 0 F" + 05
= O'F® 4+ 9°F¥ + 0°F1? = . (6.3.8)

For Faraday’s law
V xE+ 9B _ 0 (6.3.9)
5 =0 3.
we again take the z component,
0B, O0E., 0E, OF3%  9F3  9F% 39 03 20
_ = — = F°% — 0 F°° — O3 F

ot "oy o TR el il (LU L

= ¢(0"F® +0’F® + 9°F?) =0 (6.3.10)

By comparing Egs. (6.3.8) and (6.3.10), we note that we can combine them into one equation
OMFYP + OV FPH + OPFHY = (. (6.3.11)

Thus, we have found that in the four-vector notation, the four Maxwell’s equations (5.1.1)) can be
expressed by just two equations (6.3.7) and (6.3.1T).
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6.4 Four-vector Potential

In Section[5.1] we saw that we can express the electric and magnetic fields using the scalar and vector
potentials, and that reduced tha number of non-trivial Maxwell’s equations from four to two. We will
now see that we can do the same to the Faraday tensor F'*¥, and that way reduce Maxwell’s equations
to just one.

Using Eq. (5.1.6)), we can write

pro_Be_ 1[04 003 —0pAs — O 2) ot (2) - A, (6.4.1)
c c \ Ot ox c c
and 04, 0A
F*'=B, = 8—; - 8; = Ay — By Ay = A, — O' A, (6.4.2)

By defining the four-vector potential A* = (¢/c, A), we can write these two equations as
F10 _ glg0 _ 504t
F?b = 92Al — 9lA (6.4.3)
Similar relations apply to other components of F'*¥, so we can combine them into one equation
Fr = 9FAY — 0" AF. (6.4.4)

Using this equation, we can write the Faraday tensor in terms of the four-vector potential. Finally, we
want to express Maxwell’s equations (6.3.7) and (6.3.11)) in terms of A*. Eq. becomes

O FM = 9,0"A” — 0”0, A" = pgj”. (6.4.5)

For Eq. (6.3.11)), we find that

OMF"P 4+ 0" FPH + OPFHY = MO AP — OMOP AV + 0V 0P AF — OV OF AP + 0POM AV — 0POV AF =0

(6.4.6)
identically, because each term appears twice with opposite signs. Therefore, Eq. is automat-
ically satisfied when the Faraday tensor is expressed in terms of the four-vector potential. The only
non-trivial equation is therefore Eq. (6.4.9).

6.5 Lagrangian for Electrodynamics

Finally, let us see how we can describe electrodynamics in the Lagrangian formulation. Because the
electromagnetic fields are continuous fields, we need to find a Lagrangian density £ as defined in
Section [3.6] and we will express it in terms of the four-vector potential A*.

We know that electrodynamics is invariant under both gauge and Lorentz transformations. There-
fore the Lagrangian density £ has to be a Lorentz scalar, and to be gauge invariant it can only depend
on the four-vector potential through the Faraday tensor F'#¥. It also makes sense to demand that the
Lagrangian density should contain only first time derivatives and they should appear only in quadratic
form. This corresponds to a “natural” system as defined in Section [3.5.1] and it ensures that the
Euler-Lagrange equations have the familiar form. The expression that satisfies these requirements is

FF F,,,, and therefore we are led to consider a Lagrangian density of the form

L =aF"F,, (6.5.1)
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where a is some constant. Actually, the numerical value of a does not matter because it will drop out
the Euler-Lagrange equation, but we will see later that the sign should be negative. It is conventional
to choose a = —1/4, so that we have

1
L=~ F"Fp. (6.5.2)

In terms of the four-vector potential, this becomes
1 1
L=~ (MY =0 AN DAy — O A) = S0P A (D Ay — 0,A). (653)

In order to derive the Euler-Lagrange equation, we first write Eq. (3.6.12) in a four-vector form,

oL oL
"0(0uy) oy

and generalise it to the current case by replacing y with A,.. Because the Lagrangian £ depends only
on its derivatives, we find the equation

(6.5.4)

oL

To avoid any confusion about the derivative in this expression, it is best to lower all the indices in
Eq. (6.5.3) and write it in the form

1
L= —ig'{pg)‘ganA)\(apAa — aJAp). (6.5.6)

Then the derivative is easy to take by noting that it is non-zero only if the Lorentz indices match, that
is,

9(0AN)  cue
5.4 ~ W% (6.5.7)
We find
87’6 = _lgnpg)\a [5u5u(a A — 9. A )—1—8 Ay (5#51/_5#51/)]
a(auAy) 2 rYA\Ypilo TP K p-o c¥p
1
= -3 [g“pg”"(apAa — 0,Ap) + Or Ay (g’mg”A - g“Ag"”ﬂ
- —% [OPAY — QAR + GPAY — JYAM] = — F, (6.5.8)
and therefore the Euler-Lagrange equation (6.5.5) is
oL
_— = — FMV = (. I
%A = 0 (6.5.9)

Which is exactly the Maxwell equation in vacuum, i.e., with j# = 0. Because the other
Maxwell equation (6.3.11)) is satisfied identically when using the four-vector potential A*, we have
shown that the laws of electrodynamics in vacuum are correctly described by the Lagrangian
which we obtained by assuming essentially only gauge and Lorentz invariance. This demonstrates
how powerful symmetry considerations can be in physics, and in fact the properties of the other
fundamental interactions (strong and weak nuclear force, and gravity) are also determined by their
corresponding gauge invariances.
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